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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 99836781
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9983671527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third word in the same way as the second word is related to the first word.

Never : Always :: Up: ?
Options:

1. ®« Drown

2. » Dry

3. % Dead

4 « Down

Question Number : 1 Question Id : 9983671527 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

7 faeT oo S WY weg § 3 sy T § O e ¥ oE e, TEe g ¥ wEfoT
Fefr FET  WeF o FOAT - ?

Options:



Question Number : 2 Question Id : 9983671528 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third number in the same way as the second number is related to the first number.

45 :140 ;70 : 72
Options:

1. = 180

2 % 195

3. ¢ 215

A = 305

Question Number : 2 Question Id : 9983671528 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

7 fawe o St Sl TEw @ 3@ oY efe ¥ O we ¥ ol e, Tedr g ¥ e 2

b 7 140 =70 = P

Options:
1. = 180
2 % 195

3. v 215



4. % 305

Question Number : 3 Question Id : 9983671529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the three given interrelated words.

Jawaharlal Nehru, Morarji Desai. Narendra Modi
Options:
1. » K RNarayanan

9  VPsingh

3. # Lal Krishna Advani

4 % Rahul Gandhi

Question Number : 3 Question Id : 9983671529 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

7 fawed g S @ fGT 717 s wefda el @ watad gl
HATETolTel g%, ARNST 3OS, Fig A

Options:

1. & & 3N ARTUH

2. v o fiE

3y CNEpeUT HTSETON



4 v TGS R

Question Number : 4 Question Id : 9983671530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the three given interrelated numbers.

17: P23
Options:
1. = 15

Question Number : 4 Question Id : 9983671530 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T8 ReeT I S & 7 9 RER TET TEma § @9

17,719, 23
Options:

1. = 15
2. = 45

3. v 29



Question Number : 5 Question Id : 9983671531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the three given interrelated words.

Lion. Buffalo. Rat
Options:
1. ®« Hen

‘ Jelly fish

8

3. Shark

b4

4. « Whale

Question Number : 5 Question Id : 9983671531 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

¢ faFeT g S = T o7 s weida el @ wErad gl

I, HH, TgT
Options:

1, s T
2w Solhr



4, v =

Question Number : 6 Question Id : 9983671532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Four pairs of words are given below out of which the words in three pairs bear a certain common relationship. Choose

the pair in which the words are differently related.

Options:

1.

Sailor : Crew

&

Singer : Corus

/B

&

3 Cattle : Herd

®

4. » Sheep:Crowd

Question Number : 6 Question Id : 9983671532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A el & A SE fqv ae € oed ¥ e St & we=dt 7 ve AR wew wey g 9w Ser 9w
orad =g O v ¥ §efog 2

Options:

2 % FNEF ;. BRI
5. s TR



Question Number : 7 Question Id : 9983671533 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Four pairs of numbers are given below out of which the numbers in three pairs bear a certain common relationship.
Choose the pair in which the numbers are differently related.
Options:

1. w 3.27

7 & 8.64

Question Number : 7 Question Id : 9983671533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= gEms ¥ 7 o v aw § G ¥ O S & gt F v RfPeg oem g9v £ 37 S
7 s FEw B yeR @ wEte E

Options:

f u By
2. v 864
3 & 5 725
4 = 6 216

Question Number : 8 Question Id : 9983671534 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In the morning, Dev was standing facing the North. He took a right turn and walked for a distance of 15 m. Then. he

took a left turn and walked for a distance of 20 m. Which direction was he finally facing?



Options:
1. & East

2 _« Notth

South

-
%

A = West

Question Number : 8 Question Id : 9983671534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I8 & THY, 3T 3cal H AR HE FF TT A1| TF ST HR {7 3R 15 m H gl 7% Ten|
T 7T 3R 20 m #r g T =l 3 ag ha foar 7 @ g7

Options:
1. = qj
2 ¢ Icdl

Question Number : 9 Question Id : 9983671535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Ramesh walked 28 m towards the East. Then, he turned left and walked 30 m. Then, he turned to his left and walked 20

m. Finally, he turned left and walked 45 m. How far was he from his starting point?

Options:

1. & 1

Lh

m



4 % 19m

Question Number : 9 Question Id : 9983671535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR, 9@ #T AR 28 m Tem| Y I AC {37 37 30 m Tem Y 7 A0 q37 3R 20 m =Tem 3T A
IE ST 3T AT 45 m Tl FF IS FRHE TAOF ¥ I gy am

Options:

1. = 15 m
2 ¢ 17 m
3 % 22 m
4 = 19 m

Question Number : 10 Question Id : 9983671536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three different positions of the same dice are shown. Find which one is opposite the face showing “ ?

>
S (0

A\
e O N\

\ g

Lt



Options:

Question Number : 10 Question Id : 9983671536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & I de R Rt SR § e B R e T T W g T NN 2
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1
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AN
.
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Question Number : 11 Question Id : 9983671537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Six children A, B, C. D. E and F are standing in a line. F is standing second to the right of E and immediately to the left

of C. B is between D and C. Who is standing at the extreme right?

Options:

Question Number : 11 Question Id : 9983671537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

SE T A B, C.D,E3RFwrIFa # @ &l F, E & a7 gl T W 3R C ¥ vehen a1 g B,
D 3t C & 99 # &l UHeH T HiT Ter g7
Options:

1. = C



Question Number : 12 Question Id : 9983671538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S. T. U, V. X, Y and Z are sitting around a round table for a group discussion. Y is sitting third to the right of Z and
between S and X. Z is sitting second to the right of U. V is sitting third to the left of X. Who is sitting to the right of §?
Options:

Question Number : 12 Question Id : 9983671538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S, T.U V X Y 3R Zvs aaes o= F O oF M &1 & 38-97 $S &1 Y, Z & g7 W
BE RIS ARNXFITT AT E Z U % a0 g8 T W gl V, X F ¢ F8 T0F W gl S
& gt 3R Hid a7 87

Options:
1. » 7T
2. v U



Question Number : 13 Question Id : 9983671539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

E Sahil is Salil’s brother.

II. Shreva is Shyam’s daughter and Salil’s elder sister.

III.  Sahil is Shreya’s brother.

If the first two statements are true. the third statement
Options:
1. « istrue

is false

-2
#®

3 x may betrue

A % is undeterminable

Question Number : 13 Question Id : 9983671539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

. wfeer, e &7 oS B
Il &, eare @ 9o 3 wfore #9998 2
Il |rfger, AT & 91E ¥
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Options:

1. v ¥ E



2. % TAE

3. % Ter & THATE

4« TARa a& B o wwar 7

Question Number : 14 Question Id : 9983671540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A farmer has 25 buffalos. All died except 7. How many buffalos was he left with?
Options:
1. = 0

Question Number : 14 Question Id : 9983671540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v g & urg 25 S off1 7 o X ml 5 9| 3mS 9w et 89 a=ie

Options:



Question Number : 15 Question Id : 9983671541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A company is hiring for the post of Tech Expert. Following are the criteria that the candidate must meet.

The candidate must:

I, be an Engineering graduate with at least 70% marks.

IL. not be less than 23 years and not more than 30 years of age on 15" July 2019.
III.  have passed the selection test with at least 60% marks.
IV.  be willing to join immediately for training.

The details of a candidate are given below. You have to read the information provided and decide his/her status based on

the conditions given above.

Ravish is an IT engineer who passed his graduation with 73% marks. After getting the engineering degree he completed
his MCA. He cleared the selection test with 70% marks.

He is ready to join immediately. His date of birth is 284 October 1993.
Options:

1. «» The candidate is to be selected.

? % The candidate is not to be selected.

3 » The candidate is to be rejected on the basis of age.

/. » The candidate is to be rejected on the basis of marks obtained in the selection test.

Question Number : 15 Question Id : 9983671541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 9983671542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A reputable school wants to hire a teacher. Following are the criteria that the candidate must meet.

The applicant:

I.  must be a Social Science graduate with 75% marks.
II. should be between 21 to 30 years as on 31st May 2019,
III.  must have a post graduate degree/three years diploma or must have completed B.Ed. with more than 65% marks.
IV.  must have a minimum of three years® experience in teaching.
V.  must be ready to join on a two-year probation.
If a candidate satisfies all the criteria except:
e but is an Arts with Mathematics graduate with minimum 72% marks and has an experience of more than 5 years
and more, her/his case is to be referred to the Vice Principal.
e but has a master degree’s with minimum 60% marks, her/his case is to be referred to the Principal.
Details of a candidate are given below. You have to read the information provided and decide what must be done based
on the conditions given above.
Anush has a B.A. degree in Political Science with 80% marks and has completed his post graduation in History. He
completed 28 years of age in 2019 and has four years’ experience as a faculty member. He is ready to join for a
probation period of two years.
Options:
1. = His case is to be referred to the Principal.

? w His case is to be referred to the Vice Principal.

3.« The candidate must be selected.

4. » Information is inadequate to take a decision.

Question Number : 16 Question Id : 9983671542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 9983671543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The statement given below is followed by two decisions labeled I and II. You have to assume everything in the

statement to be true. and then decide which of the two suggested decisions logically follows.
Statement:
Air pressure horns in vehicle are the cause of noise pollution in traffic.
Decisions:
I.  Use of air pressure horns should be banned.

II. Normal horns should not be promoted.
Options:
1. «» ©OnlyIfollows

? % BothIand II follow

3. & Either I or II follow

4. % OnlyIl follows

Question Number : 17 Question Id : 9983671543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 9983671544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The statement given below is followed by two decisions labeled I and II. You have to assume everything in the

statement to be true, and then decide which of the two suggested decisions logically follows.
Statement:
A large number of college students failed in the annual examination.
Decisions:
I.  There should be an enquiry put into place to find out the reason.

II.  Administration should inform their parents.
Options:
1. « OnlyIfollows.

? % BothI andII follow.

3.« Either I or II follow:

4. » OnlyII follow.

Question Number : 18 Question Id : 9983671544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 19 Question Id : 9983671545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third figure in the Problem Figurein the same way as the second
figure is related to the first figure.

Problem Fig.
1212 [th ] 9
COOO0 | 000 AAAAN
A B C D
Answer Fig.
>=> YV V. A <4
> <
| WV | 160 | <
1 2 3 4

Options:



Question Number : 19 Question Id : 9983671545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 9983671546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option from among the Answer Figures that continues the series established by the four Problem Figures.

Problem Fig.

J& RS

A

D
Answer Fig.
1 4

2 3

Options:

1. % 1

Question Number : 20 Question Id : 9983671546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 21 Question Id : 9983671547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many triangles are there in the figure?

Options:

Question Number : 21 Question Id : 9983671547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fors & e e §7

Options:



3« 15

Question Number : 22 Question Id : 9983671548 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Four figures are given in the options, out of which three figures bear a certain common relationship. Choose the figure
which is different from the others.

Options:




4

4

Question Number : 22 Question Id : 9983671548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A A Rr oy G s dm RS s M s av i F sl = A 3w &
= T

Options:




Question Number : 23 Question Id : 9983671549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four letter clusters are given in the options, out of which three letter clusters bear a certain common relationship.
Choose the option in which the letter clusters are differently related.
Options:

1. « BDYW

2.« HITP

3.« 1LQO

1

A, % FHUS

Question Number : 23 Question Id : 9983671549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Taeredt & 9 3R TFg v o §, T ¥ O 3R wEgl 7 ve @f¥Eg @ gey g 9w Reew
7 e 3R aag B 9eR @ e E

Options:
1. = BDYW
2. ¢« HITP

3. » JLQO



4. % FHUS

Question Number : 24 Question Id : 9983671550 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Four numbers are given in the options, out of which three numbers bear a certain common relationship. Choose the
number which is different from the others.

Options:

!.[:.
®
—_
p=l
Lh

Question Number : 24 Question Id : 9983671550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et & a1 wEAT &1 7 §, e § I senadt & 9 ve ARea @ev wey g 9 §Em g9 A
3T T B 2

Options:

1. = 135
2. % 75
3. o 85

4. » 195



Question Number : 25 Question Id : 9983671551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the Venn diagram that best represents the relationship among the given set of classes.

Food. Vegetables, Eggplants

Options:

@ ® ©

QQ

O

Question Number : 25 Question Id : 9983671551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE AT WG TqA, S I & G€ AT T & I FET F FAledA [AwId HA gl

Options:




Question Number : 26 Question Id : 9983671552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the Venn diagram that best represents the relationship among the given set of classes.

Rats. Cats. Mammals
Options:

.Qc



Question Number : 26 Question Id : 9983671552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I¢ I G eI, ST AT 6 ET AT He & T FET F FoleaH Hwod H gl

Options:

Qo




Question Number : 27 Question Id : 9983671553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Ram is Mohan’s son and Ramesh’s brother. Shreva is Shweta’s daughter and Ram’s sister. How is Shweta related to

Mohan?
Options:

1. = Sister

Daughter

/el

&

3. % Father

4 » Wife

Question Number : 27 Question Id : 9983671553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH, Flgsl 1 99 AN W@ # A5 g1 S, 3 @ g H UH & 987 ¢ 9, HgA ¥ W 9@
Options:

1, = 85



Question Number : 28 Question Id : 9983671554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Read the following information and answer the question that follows.
e ‘A -B’means A is the mother of B
e ‘A SB’means A is the sister of B
* ‘A (@ B’ means A is the father of B
e ‘A=B’means A is the son of B.

IfR=S5 5% OSP then how is O related to R?
Options:
1. » Daughter

? % Son

3. ¢ Aunt

A % Niece

Question Number : 28 Question Id : 9983671554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fFrafe@a FEaRT 9¢ 3R &T 1T 92 & 31 <
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Options:
1. = &
2. = 9T
3. v ==
4. = &=

Question Number : 29 Question Id : 9983671555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In a certain code language. EARTH is written as GCRRF. How will VENUS be written in the same code language?

Options:
1 = XGNQS

7 % XGNSP

3 , XGNSQ



e

A % XGNSZ

Question Number : 29 Question Id : 9983671555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v A= 3T s &, EARTH & GCRRF @ Srar g1 38T % &1 7 VENUS &1 &g s&r forar
FTTa?

Options:
1 % XGNQS
2 % XGNSP
3. ¢« XGNSQ
4 % XGNSZ

Question Number : 30 Question Id : 9983671556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language PAY is written as 42. How will EAT be written in the same code language?
Options:
1. w 15

2J2'5

t.[:.
®
.
L

Question Number : 30 Question Id : 9983671556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



v fAfREa oo s & PAY @t 42 g Sar 81 36 Fe ST # EAT & FhE gER forer Seem?

Options:

T. = 15
2. v 26
3. % 37
4 = 45

Question Number : 31 Question Id : 9983671557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In a certain code language INDIA is written as EJDME. Which of the following words would be coded as JAPEP?

Options:
1. « DELHI

7 % NEWPEL

i

3 % BENGAL

4. v NEPAL

Question Number : 31 Question Id : 9983671557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ve fAfRea e mer # INDIA # EJDME forar =mar 21 faer & & fow ereg &7 %@ JAPEP & w9 #
for@r sreem?

Options:



1. %= DELHI

2 % NEWPEL

3. » BENGAL

4. » NEPAL

Question Number : 32 Question Id : 9983671558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Fourteen teams take part in a cricket tournament. Each team has to play every other team. How many games must they

play?
Options:
1. = 44

2 % 140

3. % 196

Question Number : 32 Question Id : 9983671558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U% TR ZAHE H digg AT F AT T Seie & & Toe e &F F WY WA g1 AW e
AT Y FEY
Options:

1. = 44



2 % 140

3. « 196

Question Number : 33 Question Id : 9983671559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of the following pairs of signs, when their positions are interchanged, will correctly solve the given mathematical

equation?

16 +4-22+-2x5=258
Options:

1. & +and x

Question Number : 33 Question Id : 9983671559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e # ¥ 5w feg o7 #, 396 ufoar e 9fefia #< e 5=« far mar aiftide wefeor
FE GRR T g & STen?

16 +4 - 22 +2 x5 =58
Options:



Question Number : 34 Question Id : 9983671560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
‘Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given

mathematical equation?

Options:
1. = 6 and 2. +and —

?  3andé6, —and x

3w 4 and 7, x and +

4 % 3and7,+and-—

Question Number : 34 Question Id : 9983671560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et AR g @ e # ¥ B geR A, 39 Bufaer e wRafia v I = o
TUTET FHRIOT Ha 9L ¥ g & J0e?

% 3x 244 —F =265
Options:

1. « 63k 2 + 3k -




2 o 33R6 - 3 x

3. % 437 x3k=

4_&33‘%1?7,"‘%_

Question Number : 35 Question Id : 9983671561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Three of the four figures marked 1. 2. 3 and 4 are similar in a certain manner. However, one figure is not like the other

three. Choose the figure that is different from the rest.

Answer Fig.
I 2 3 4
Options:

1. = 1

7w 2

Question Number : 35 Question Id : 9983671561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IR HFEn, 1, 2, 3 3R 4 7 ¥ d=, v a9 R ¥ @A g1 g UF g 99 JF & @ e
e g1 TE WPl I S A¥ F o= g

Jca¥ ATFHTa:

SNEARIN

| 2 3 4

Options:

Question Number : 36 Question Id : 9983671562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words have been given in the options, out of which three are alike in some manner, while the fourth one is

different. Pick out the odd one.
Options:

1. = Square

2 % Rectangle

3. & Cube

4 % Rhombus

Question Number : 36 Question Id : 9983671562 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
faeedl # 9 weg fgw o1v g, Bad & &=, Bl v @ v §, sEfe St s 81 e @ 94

Options:

Question Number : 37 Question Id : 9983671563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the four figures marked 1, 2, 3 and 4 are similar in a certain manner. However, one figure is not like the other
three. Choose the figure that is different from the rest.

Answer Fig.
1 2 3 4
Options:
1. » 2
2. ¢ 3

Question Number : 37 Question Id : 9983671563 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
IR AFIGEL, 1, 2, 3 3R 4 # ¥ d=, T APET YER ¥ AT g1 gl UF HHd 9 I F A
e g1 TF WPl I S A¥ F o= B

ESEdE IED

LAY

| 2 3 4
Options:
1; ® 2
2. v 3

Question Number : 38 Question Id : 9983671564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the option that will correctly replace the question mark (?) in the given series.

BD, DF. FH. HI, ?
Options:
L. w LI

2w 1

3. s HI

4 « JL



Question Number : 38 Question Id : 9983671564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T faweT I S & 918 guen # T ey (?) @ W@ gfaraitg )

BD, DF; FE. HJ, ?

Options:

Question Number : 39 Question Id : 9983671565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the given series.

1521, 33517
Options:
1. & 64

Question Number : 39 Question Id : 9983671565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T faweT g S & 718 guen # yod Reg (?) @ wEr giaraig s
15, 21, 33, 61, 7

Options:

1. = 64
2. = 87
3. v 75
4 = 76

Question Number : 40 Question Id : 9983671566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the given series.

12, 16, 20, 28, 36, 48, ?
Options:

Question Number : 40 Question Id : 9983671566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T faweT g S & 718 guen # yod Reg (?) @ wEr giaraig s

12,16, 20, 28, 36, 48, ?

Options:

1. = 62

2. v 60

3. = 72

4 = 64

General Awarenessl

Group Number : 3

Group Id: 99836739

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

IsthisGroup for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Awarenessl

Section Id : 99836745
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section 1d: 99836783
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9983671567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Usage of which one of the following insecticides for decades has affected calcium metabolism in birds leading to
thinning of egg shells and premature hatching of eggs and thereby causing extinction of some birds?

Options:
1. v DDT

7 % Aldrin

3. # Dieldrin

4 % Endosulfan

Question Number : 41 Question Id : 9983671567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TaREE § O g fean= & @ & JI9T 5 9Edar # Hedd IUYET & 96teag & ey
3T F T I @ 3R FHAE 32 Fe S & IR0 §o 987 faera & e

Options:

1., v ZE&

D, « Fiege

Question Number : 42 Question Id : 9983671568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘Which one of the following diseases caused by water pollution affects bones and teeth?
Options:

1. % Arsenicosis

? « Fluorosis

3. # Trachoma

A = Schistosomiasis

Question Number : 42 Question Id : 9983671568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S GEWUT ¥ 3c9es et # ¥ Fia7 AT W71, gf35aT 3R et Fr weniad war g7

Options:

Question Number : 43 Question Id : 9983671569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is ‘El Nino’?
Options:
1. » Itisatype of air pollutant



? . Itisanabnormal weather pattern formed by warming of Pacific Ocean
3w Itisatype of hurricane in the US

4. w Itisadrastic fall in pH of soil due to acid rain

Question Number : 43 Question Id : 9983671569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1 » T TF GER F AG TEF

2 o U8 VAT HAEWPR & TH g § 7 Tk FHT HEH I g

3. « UE FARS H UF IHR F IHAT g

4 T8 FET I F FROT {E F GOT (pH) 7 F 7R e 7

Question Number : 44 Question Id : 9983671570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following air pollutants is a type of bio-aerosol?
Options:
1. + Pollen

? w Sulphur dioxide



3 x Hydrogen sulphide

A = Carbon monoxide

Question Number : 44 Question Id : 9983671570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Feffea # & #ia 917 7guF & THER #1 sE-adedd (SE-IE) 872

Options:

1. « SUETRUT

D TEHT SBATFEES

3. « OTEgISd HeHIss

A« A FAANEFAEE

Question Number : 45 Question Id : 9983671571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For his contribution towards saving the environment, Alfred Brownell of Liberia has been awarded for the year
2019.

Options:

1. ®# Kew International Medal

? % Champions of the Earth

3. v Goldman Environmental Prize



4 % Blue Planet Prize

Question Number : 45 Question Id : 9983671571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ASANAT F HOHS T3l I TAEIOT & 8T H TS 1 F e 2019 TER &
TEAT=g e )
Options:

5> . e s R o

O
=
4. - so-sd “eleic ‘j‘ii‘%l'{

Question Number : 46 Question Id : 9983671572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which team has won the La Liga 2019 title?
Options:
1. + FC Barcelona

? % Real Madrid
3. # SevillaFC

/4l % Real Betis

Question Number : 46 Question Id : 9983671572 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

g &7 & &7 JFT 2019 Fr Waw FEr?

Options:

1. v UHHT Siaater

2 Row Afgs

Question Number : 47 Question Id : 9983671573 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In May 2019, Vice President M Venkaiah Naidu released a postage stamp to commemorate the 750t
of

Options:

1. « Sri Vedanta Desikan

birth anniversary

2 % Adi Shankara Charya

Krishnadeva Raya

-
%

Tenali Rama Krishna

=
%

Question Number : 47 Question Id : 9983671573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS 2019 &, 3T TH FhaT A0 & ¥ 7508 SF=AETE F 3998 H UF I fehe oY
e

Options:




1. » & 3Ed cded

2w WS R

3.« FREE

4w ORI FOT

Question Number : 48 Question Id : 9983671574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of the Indo-French joint naval exercise. the 17 edition of which was held in May 20197
Options:

1. + Varuna
? % Yamuna
3. % Akash

4. % Nipuna

Question Number : 48 Question Id : 9983671574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AS 2019 7 HASE U 1T, ST-HE HYFd AHed A & 174 TERLUT & T AH g2

Options:

1. » TTOT




3w M
4 » T

Question Number : 49 Question Id : 9983671575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Anglo-Maratha Battle of Wadgaon took place in the year:
Options:
1. « 1779

2 % 1879

3 % 1679

1579

-
%

Question Number : 49 Question Id : 9983671575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mmm-mgaﬁmﬁﬁaaﬁﬁgm
Options:

1. ¢ 1778

2 w» 1879



3. % 1679

4. » 1579

Question Number : 50 Question Id : 9983671576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In Chhatrapati Shivaji’s ‘Ashta Pradhan’ (Council of Eight) what role did Amatya play?
Options:
1. » Incharge of religious affairs

Master of Ceremonies

-2
&

3 % Incharge of army administration

/4. Accountant General

Question Number : 50 Question Id : 9983671576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oFufa R 1 Fsegu= (1S F@Rl A 9RwE) F AT 1 Far JiFET 97
Options:

1. » enf#e AT F T8I

3. % U TATHS F FEAR



A FETRIGERT

Question Number : 51 Question Id : 9983671577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following was associated with the famous ‘Black Hole’ tragedy of Calcutta?

Options:

1. « Siraj ud-Daulah

2 % MirQasim

3. ® Mir Jafar

A = Bahadur Shah

Question Number : 51 Question Id : 9983671577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mrafef@a 7 O fFasr gag Fodaar 1 9fdE ‘<o 2ol THET T o1?

Options:

1. « s 3e-ater

3. x HY AT

4, » EGTIE

Question Number : 52 Question Id : 9983671578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Who among the following founded the Nirankari Movement?
Options:
1. # Feroz Shah Mehta

? % Guru Ram Das

3 . BabaDayal Das

4. » N D Mujumdar

Question Number : 52 Question Id : 9983671578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fratee 7 ¥ Faa = seea Fr T $2
Options:

1. « TR0 amg Agar

2. % dA{* <l Gl

3. o aE EIT g

4 % W ﬁ'd—iaiﬁqu

Question Number : 53 Question Id : 9983671579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the sanctioned strength of judges for Supreme Court of India?
Options:

1. = 21

8



2'\,7 31

41

i
%

Question Number : 53 Question Id : 9983671579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

m#@ﬁﬁmﬁmﬁmﬁﬁmmmﬁ?
(‘)lp_tlon: 21
2. v 31
3. % 41
4. % 51

Question Number : 54 Question Id : 9983671580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The members of Rajva Sabha are elected by vote system.
Options:
1. # Double transferable

2w Single non-transferable



3. % Cumulative

4. » Single transferable

Question Number : 54 Question Id : 9983671580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T T F WL Adeld Jumelr ganT fAar=a g &l

Options:

1%@@31%1?!'@'&'

&

2« THS HEEAIONT

Question Number : 55 Question Id : 9983671581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which parliament constituency in India is the largest in terms of number of electors?
Options:
1. » Kishanganj. Bihar

7 % Varanasi. Uttar Pradesh

3 Malkajgiri, Telangana



4 = Vellore, Tamil Nadu

Question Number : 55 Question Id : 9983671581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foaraeT &7 OET & 3R W, 8RT § #iT O i 87 g9y a9 27

Options:

1« s, faen

2y SIOTE, 3eal TEu

e T

3 o HEHRSEN, dAM

i
dodR, dHAATS

g
g}

Question Number : 56 Question Id : 9983671582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to which article of the Constitution of India shall the state take steps to organise village panchayats?
Options:
1. = Article 34

? # Article 24

3.« Article 40

4 = Article 30

Question Number : 56 Question Id : 9983671582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T §aue F & auguﬁq & HTAR AT T TR T=TIET F TS %T-ra FEH 33T =gU?
Options:

1. = Hﬂmf"‘

2 = Hﬂﬁ_‘fz“

I ma 40

H@ﬁﬁfa{}

g
g}

Question Number : 57 Question Id : 9983671583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the process of framing the Constitution of India, several committees were appointed by the constituent assembly.
Who was the chairman of the ‘Order of Business’ committee?

Options:
1. ®# GV Mavalankar

? « KM Munshi

3 » Gopinath Bardoloi

A % AV Thakkar

Question Number : 57 Question Id : 9983671583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRATT WU I TG TR FI H THHaT H, HGUE T @R 3eis FfAfadr @gea $1 715 o)
T TETelel AIATT &1 FeTeT i oar?

Options:



1. % S Y AT

A % T3 SFRL

Question Number : 58 Question Id : 9983671584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The feature ‘Concurrent List® in the Constitution of India is derived from the constitution of:
Options:

1. & France
? % Ireland
3.« Australia

A % USA

Question Number : 58 Question Id : 9983671584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR WU § FAEA GAT @ e F Fiaw & far g
Options:

1. = W&



Question Number : 59 Question Id : 9983671585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which sport is Wanamaker Trophy associated?
Options:
1. v Golf

? % Squash

3. & Badminton

Table Tennis

4.

&

Question Number : 59 Question Id : 9983671585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IAHFT arhr FE B ¥ gefog g7

Options:

1. v %

2 % T



4. « & Ag

Question Number : 60 Question Id : 9983671586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won the ‘Plaver of the Tournament® title in the 1999 World Cup cricket (ODI) championship?
Options:
1. » Sanath Jayasuriya

? % Sachin Tendulkar

3. « Lance Klusener

A % Glenn McGrath

Question Number : 60 Question Id : 9983671586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1999 T 9 forthe (3MENNR) AfFTT=RT & awx 3% & gaee & Baw e har

Options:

f, . s S

I TR gt

3. v el ereloialy
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99836740
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0
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General Awareness?
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99836746
1

Online
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20

20

20
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99836784
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Question Number : 61 Question Id : 9983671587 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

‘Pato’ is the national sport of which one of the following countries?

Options:
1. # Finland

? % Cuba



3  Argentina

4. » Mongolia

Question Number : 61 Question Id : 9983671587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qrer’ o # ¥ B o =1 TS A 82

Options:
1. = foaels
2, ® T

3. v A&
4. = @

Question Number : 62 Question Id : 9983671588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ritual dance ‘Theyvam’ is popular in the state of
Options:
1. # Karnataka

? « Kerala

3. ® Tamil Nadu

A = Andhra Pradesh



Question Number : 62 Question Id : 9983671588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dRifte g7 ouTH T F AT gl
Options:
1. = =S

2. v

e

3_%«‘-@34?11?

4, = ¥H HEA

Question Number : 63 Question Id : 9983671589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The carnatic raga ‘Hindolam’ is equivalent to which raga of Hindustani music?
Options:
1. + Malkauns

2 w Khamaj

3 % Mand

Madhuvanti

e
%

Question Number : 63 Question Id : 9983671589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FaAres 191 EErew Rgrare T T ¥ 5w wr & wHewe 27

Options:



72w GASA
3 % Pary

Question Number : 64 Question Id : 9983671590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many classical dance forms of India are recognised by Sangeet Natak Akademi?
Options:
1. = 12

Question Number : 64 Question Id : 9983671590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AlEah HFIEHT SaNT 8 & Tohdel T Fcd TGl I AT &f 75 g7

Options:

1. = 12




Question Number : 65 Question Id : 9983671591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following countries is the most linguistically diverse country in the world?
Options:
1. «~ PapuaNew Guinea

? % Comoros

3. # India

/. % Finland

&

Question Number : 65 Question Id : 9983671591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 o+ 3 2o, @ & g amws [fFuar amer g g2
Options:

1. o ‘:ng'B-ITHi_~~ AT

2w HEART



Question Number : 66 Question Id : 9983671592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Jelepla, Nathula, Zojila and Patkai are the names of:
Options:
1. « Passes in Himalayas

2w rivers flowing in Himalayas

medicinal plants in Himalayas

b

3.

active volcanoes in Himalavas

:

<,

Question Number : 66 Question Id : 9983671592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST, AT, Ferer AR et e F ¥ e Je 82

Options:

1. » TesmeT &7 el

2. « Teawew # gariza Afea

3« fedew & sihwefm ol



3 . fEarers 7 widw sEreTHEr

Question Number : 67 Question Id : 9983671593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In September 2016. was the first island in India to be made into a district.
Options:
1. = Bhavani Island. Andhra Pradesh

? w Srirangam, Tamil Nadu
3 Majuli, Assam

/. w Srirangapatna, Kamnataka

Question Number : 67 Question Id : 9983671593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ffasx 2016 #, e a9 ITeT $TRT T TYH a9 o7

Options:

1 SETE A, Y g

2 AGTH, A3

g, o T T

4.« SEE, FAEH

Question Number : 68 Question Id : 9983671594 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

The Planning Commission was set up according to the directive principles laid out in of the Constitution of
India.
Options:

1. &« Article 39

? w Article 43

Article 36

-
%

Article 40

-
%

Question Number : 68 Question Id : 9983671594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SO F@iau & # fatfia Tl faat & e, dear amaeT @ T # S

Options:

34@%?:39

1. ¢

2. % W‘“

3 = WSG

4. = wqﬂ

Question Number : 69 Question Id : 9983671595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The maximum foreign exchange of India is spent on import of:

Options:



1. & electronics

? % iron and steel

3 food grains

4.  petroleum products

Question Number : 69 Question Id : 9983671595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR Hr Ffowan g qgr, fFeafofee # @ s 3w w a7 & &

Options:

4. o 9EHE 3G

Question Number : 70 Question Id : 9983671596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was Bombay Stock Exchange (BSE) established?
Options:
1. « 1875



Question Number : 70 Question Id : 9983671596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS X SR (§UEE) ﬁma&wﬁagarr?

Options:
1. «» 1875
5w 1975
3 & 1953
4 % 1959

Question Number : 71 Question Id : 9983671597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Deficiency of which hormone in the human body causes ‘Cretinism®?
Options:
1. # Adrenaline

72 % Oxytocin



3  Thyroxine

4. » Progesterone

Question Number : 71 Question Id : 9983671597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T F Bw gala & w4, FResw 309 =9 §2

Options:

5 sfETATE
3\,:}211'&1'?%‘:!?
A, » WEEA

Question Number : 72 Question Id : 9983671598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gr gFR T AFdT B ¥, fer i i wEw i T F sl o i a8 B

Options:

1 « difeeh dadw

5 I TER e

3. = aufes #r ddT



4. v W= & e

Question Number : 72 Question Id : 9983671598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
There are two types of vaccines, killed vaccines and live vaccines. Which one of the following is NOT a live vaccine?

Options:

1. # Polio vaccine

Yellow fever vaccine

/il

b4

Tuberculosis vaccine

3.

&

4l . Rabies vaccine

Question Number : 73 Question Id : 9983671599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Lucimeter is used for measuring
Options:

1. « intensity of light

2 w specific gravity

degree of rusting

i
%

/. w degree ofacid rain

Question Number : 73 Question Id : 9983671599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T &7 Ao F T w2 & S gl

Options:



1. » e & Sfgar

/
i

3. = T T Fr FfT

A« 3HFES IuT ST A

Question Number : 74 Question Id : 9983671600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following acids is known as ‘Muriatic Acid’?
Options:
1. » Sulphuric acid

? . Hydrochloric acid
3. % Aceticacid

4 % Nitric acid

Question Number : 74 Question Id : 9983671600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & @ #l7 @ e, 'wReRs o sgear 32

Options:

1 FoFERE IE



Question Number : 75 Question Id : 9983671601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Indian astrophysicist developed the “Saha equation’ that explains chemical and physical conditions in stars?

Options:
1. » Subrahmanyan Chandrasekhar

?  Meghnad
3. = Birbal Sahani

4 % P C Mahalanobis

Question Number : 75 Question Id : 9983671601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bra s @ sifawiae F wRr gEeRer saafeg frar, St art & guafas A s6ifTe et &
SATEAT T 272
Options:

1« FIATIS TR

2 o HIAE



3. x SR gell

Question Number : 76 Question Id : 9983671602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Vijay Pandurang Bhatkar is popularly known as:
Options:
1. « Father of Indian supercomputers

? % Father of Indian medical research

3w Father of Indian surgery

/. » Father of Aeronautical Engineering

Question Number : 76 Question Id : 9983671602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o aiser e, B w1 A AT §
Options:

1 ARART GRFFI F Tk

I AT =feear aﬁug«{-film & F

3 x #RAT ey =fhcar & J9%



4. « FEs 3FT F 59

Question Number : 77 Question Id : 9983671603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is India’s first operational remote sensing satellite?
Options:
1. v IRS-1A

2 % INSAT-1A

w

3. % GSAT-1

PSILV-D3

e
%

Question Number : 77 Question Id : 9983671603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et & & Fl9, 9T & yuF FErfog GeT HagT 3998 872

Options:

1. v IRS-1A

2 % INSAT-1A

3. % GSAT-1

4. » PSLV-D3

Question Number : 78 Question Id : 9983671604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Where is the headquarters of International Monetary Fund located?

Options:
1. « Washington D.C., US

? » Geneva, Switzerland
3 x Vienna, Austria

4 » J akarta, Indonesia

Question Number : 78 Question Id : 9983671604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HERTSET HET FIY FT JEAET Fg1 1297 87
Options:

1 o TREES &, goE

2y e, Feeeels

3w TaTem, fEgar

A« SR sSAfRET

Question Number : 79 Question Id : 9983671605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the prime minister of India when South Asian Association for Regional Cooperation (SAARC) was
established?

Options:
1. ®# PV Narasimha Rao



2 % 1K Gujral

3. % HD Deve Gowda

4. » Rajiv Gandhi

Question Number : 79 Question Id : 9983671605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sf&oT TS & HEaeT §96 (SAARC) FT TI9aT F TAT 9T T TUHAS Hid 91?

Options:

1 » @& W@ T

9 HE & IR

3. « T 2 &aeilsr

4, v T=F e

Question Number : 80 Question Id : 9983671606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

C-DAC develops super computers in India. The full form of C-DAC is:
Options:
1. « Centre for Development of Advanced Computing

? w Centre for Development of Augmented Computing



3 x Centre for Digital Augmented Computing

4. » Centre for Development of Allied Computers

Question Number : 80 Question Id : 9983671606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hr-3%, 9IRa § N FF0 Fefad #ar g1 @-3% & 9 77 &

Options:

1. » 9910 T e %

2_ % mﬁﬁmﬁwéﬁ

3. « TEfSes gaftg oo &7

4, » TeEd® WU A Fe

Arithmetic Ability1
Group Number : 5
Group Id: 99836741
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Arithmetic Ability1

Section Id : 99836747
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 99836785
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9983671607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘What should come in the place of question mark in the following number series?

30, 34, 43, 59, 84, 120, ?
Options:
1. v 169

2 % 135

3 = 185

A % 145

Question Number : 81 Question Id : 9983671607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e &7 % e § W RS () F U W Aeafe@a # ¥ Fi9 @ e neen?

30, 34, 43, 59, 84, 120, ?

Options:

1. «# 169



2 % 135

3. » 185

4. = 145

Question Number : 82 Question Id : 9983671608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of: JIZB + \/26{] — /16

Options:

1. = v136

2. v V144

Question Number : 82 Question Id : 9983671608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

J128+ V260 —+/16 FT AT SgaT grem?
Options:

1, » VIX

2. v V144



3, » VIE2

4, « V178

Question Number : 83 Question Id : 9983671609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
-3 —3

o SR £
Simplify: (E) o (2—) % = (—)
16 3 2

Options:

Question Number : 83 Question Id : 9983671609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

()" <[ (] wwm =
Options:
1. = 3



Question Number : 84 Question Id : 9983671610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Solve: 6 X 0.6 Xx0.06x 0.006 X60=?
Options:
1. v 0.07776

> % 7.7760

3. = 0.007776

0.7776

<,

&

Question Number : 84 Question Id : 9983671610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

6% 0.6 X 0.06% 0.006 X 60 =? & &I FI|
Options:

1. «» 0.07776

2 % 7.7760

3. = 0.007776



4. % 0.7776

Question Number : 85 Question Id : 9983671611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
2x—y

X
If — = 0.3, then find the value of :
v 2x+y

Options:

1. =

=
-1
Lh

? @ 025

(%
®
-
r__,u
Ln

Question Number : 85 Question Id : 9983671611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

x 2x—y
R = 0.3 &, F’szﬂ; F AT =T grem?
Options:
1. = 0.75
2., « 025
3 % 0.35

4. = 045



Question Number : 86 Question Id : 9983671612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 3
Find: {g)z_(%)z
3 1
G~
Options:
16

1. = 34

15

11
3. % 42

13
4. v 28

Question Number : 86 Question Id : 9983671612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GG ar fehaaT grem?

G

Options:
16

1. = 34
15

2 = 36
11



13
4, » 28

Question Number : 87 Question Id : 9983671613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the ratio of the L.CM and HCF of the numbers 28 and 42.
Options:

1.« 6:1

2 % 5:4

Question Number : 87 Question Id : 9983671613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEIT 28 3R 42 & FYgcad WANEaH IR Agcad HHATIAS H FId FAT gIeT?

Options:

T o B A
2 uw A
R § 2i3
4 = 4:9

Question Number : 88 Question Id : 9983671614 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
The LCM and HCF of two numbers is 630 and 9 respectively. If the sum of the numbers is 153 then their difference

is

Options:

1. =

[
L

L]

2 w3

3 % 17

Question Number : 88 Question Id : 9983671614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& FEITHT & FEcaR FAMEd® AN AgcaH FATIae HAW 630 A 9 §) IfE Fwmmadt #v AT 153 §
ar 3¢ &= = 37T Faar geme?

Options:

T. wu 28
2w 33
3 = 17
4, v 27

Question Number : 89 Question Id : 9983671615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of two numbers is 40 and their difference is 4. Then. the ratio of the numbers is:
Options:



1. 1159

2 % 22:10
3 % 21:19
4 w 11:]18

Question Number : 89 Question Id : 9983671615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar HEITHT &1 T 40 § AR 38 17 7 AW 4 g1 57 Sl HEIHT & Hd e grem?

Options:

1. ¢ 11:9
D & 22:10
3. % 21:19
4. » 11:18

Question Number : 90 Question Id : 9983671616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The incomes of Satish and Vishal are in the ratio 5 : 3 and their expenditures are in the ratio 7 : 4. If savings of Satish is
equal to 30% of his income, then what is the savings of Vishal?

Options:



Question Number : 90 Question Id : 9983671616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

H?ﬁ?TBﬂTﬁ'ﬂﬂﬁﬁmmﬂ?ﬁHE:S%ﬁ:ﬂ%cquaﬂ}lgwm?:4%Iﬂﬁ'ﬂﬁrﬁriﬁ'aﬁﬁ'
IEH AT F 30% F |WEY g, ar Fere Fr g9 o= 32

Options:

1. = 28%
5 322%
3. % 32%
i. o 332%

Question Number : 91 Question Id : 9983671617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rajesh starts a business with a capital of ¥ 3 lakhs. Rucha and Anupama join the business after 6 months and 8 months
respectively from the start of the business. At the end of the year, if the profit was shared between Rajesh. Rucha and
Anupama in the ratio 5 : 8 : 2, then what is the amount (in ¥ lakhs) put in the business by Rucha and Anupama together?

Options:

1. = 96

#



2 % 10.8

Question Number : 91 Question Id : 9983671617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & T3 1@ & G0 F T TF AGAF YF Har| T AN HGUAT 58 TIAT YE @A F FA: 6
H@ﬁiﬁTSHﬁ??m%mmﬂ:lﬁ#ﬂHﬁ,mmsﬁwﬁmn {rﬁlSﬂTB-ioj__Hm#
W5:8:2#Wﬁmmmm,ﬁwﬁag4m IR SUIHY ﬁgﬁﬁﬁﬁrﬁ{?
ow #) FRiRe & e

Options:

T. = 96
2. = 1038
3. = 124
4, » 132

Question Number : 92 Question Id : 9983671618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A is 20% more than B, B is 40% more than C and C is 60% less than D. Which one of the following is correct?
Options:
1. # Bis 11.2% more than A.

? ® Cis27.2% less than A.



3 & Ais 32.8% less than D.

4. = Bis 16% more than B.

Question Number : 92 Question Id : 9983671618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A BT20% 3% 8 B, CH40% 3MF 3R C, DAB0% FH I ST TR B F F Fia @
TET 87

Options:

1w B AH FaT & 11.2% Ao 2

5« C A® Joem 7 27.2% & B

3. » A D# 328% FH gl

A x B, B ¥ 16% e ¥

Question Number : 93 Question Id : 9983671619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X and Y started their journeys from place A to B and B to A respectively at the same time on the same day. After

crossing each other. they completed their remaining journey in 12‘—1 h and 16 h respectively. The ratio of speeds of X
and Y is:

Options:
1. & 7:8
2w 8:7



a
#®
tea
[ g}

Question Number : 93 Question Id : 9983671619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

XARY & o & &7 3N F97 F77 W &7 A T B 3R B & A o 1 3901 A1 & | TF

gEL ® 9N A & TG, Seald HAM lzi h 3T 16 h & 319 O amr qff #11 X A Y & afa &7
T fereer 87

Options:

. & 7528
2. ¢ 857
3 = 4:3
g & J3:2

Question Number : 94 Question Id : 9983671620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average weight of Amit., Vinit and Sumeet is 56.25 kg. Both, Vinit and Sumeet have the same weight. If Amit’s
weight is 72.75 kg. then Sumeet’s weight will be:
Options:

2 o 43kg

3 % S0kg

58 kg

e
%



Question Number : 94 Question Id : 9983671620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

#fag, ffaa it gie #7 diwa 3= 56.25 kg 21 e it gHa d&f &1 3o v 21 3w HfAg
& a1 72.75 kg §, @ GAT F T focerr grEm?

Options:
1« 40 kg
5 » 48 kg
3 x 50kg
4. % 58 kg

Question Number : 95 Question Id : 9983671621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 9.6% of x is equal to 48% of v, then what percent of x is equal to the sum of x and v?

Options:

Question Number : 95 Question Id : 9983671621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3FT X T 9.6%, y % 48% &F ST g, ar x & fohdell I x 3T y & T & e 82

Options:



2 » 100
3. v 120
4. » 125

Question Number : 96 Question Id : 9983671622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In a class of 80 students, 60% are girls and the rest are boys. If the average marks of the girls is 75 and that of the boys

is 65, what is the average marks of the whole class?

Options:

Question Number : 96 Question Id : 9983671622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

80 oIS #T FeT H, 60% w=frar § 3y arhr o5+ &1 oy w=ar & sit|g 3/ 75 & 3T o=y 7 65
g, ar & ®aT &7 T 3 haer 77

Options:

1. = 69



d. & T

3 & 715

4. = 725

Question Number : 97 Question Id : 9983671623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average of first 25 prime numbers is:
Options:
1. « 424

7 % 384

3. % 526

A % 2438

Question Number : 97 Question Id : 9983671623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9UH 25 JHA=T FEITHT &1 dEa haar gem?

Options:

1. v 424

5. & 384



3. » 526

4. » 248

Question Number : 98 Question Id : 9983671624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the cost price of a book is T 1250 and its loss percentage is 15% then its Selling price is (in3)
Options:
1. = 1100

2 % 1200

3.« 1062.50

A. % 1050.50

Question Number : 98 Question Id : 9983671624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofe el qFae 1 @ Hew T 1250 § 3R 3R g arelt @i 15% 8, o gFas 1 e 7o R
) raar gem?

Options:
1. = 1100
2 % 1200

3. v 106250



4. % 1050.50

Question Number : 99 Question Id : 9983671625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Viraj sells one headphone for T 840 at a gain of 20% and another for T 960 at a loss of 4%. His total gain or loss
percent is:

Options:

1.

15
5=9% loss
17
15 ;
~ 5=04 gain
Eu ;
~ 6-% gain
M R i

6%% loss

4. =

Question Number : 99 Question Id : 9983671625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T T840 # 20% & @1 TR TH gSBIA =T ¢ AR GET g5 T 960 H 4% F @A W ST 2
30 Tt foraa gforera #r amer a1 gl g%?

Options:

1« L% @&
15
5, 535% o

5 o 62%3”31



- 62%31‘%‘

Question Number : 100 Question Id : 9983671626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By selling 40 pens a shopkeeper gains cost price of 4 pens. What is his gain percent?

Options:
100

108,
1. @ 11"{!

7« 10%

100

A = 20%

Question Number : 100 Question Id : 9983671626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

40 U ST Teh GHEGR H 4 O H RT Hod 9od gt g1 3gF oy gfaea Taer 87

Options:
100
1 = — ik
T 11

2. @ 10%
2 = %%

4. = 20%



Arithmetic Ability2

Group Number : 6
Group Id: 99836742
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability2

Section Id : 99836748
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 99836786
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9983671627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The price of a television is T 14000 inclusive GST. If the GST is 12%, find the basic price of the television. (in I)
Options:
1. + 12500

2 % 12000

w

3. % 11500



i

A. % 11000

Question Number : 101 Question Id : 9983671627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T St $r FrEa GST Ffga T 14000 g1 T GST 12% €, aF eoiffasiad & 77 Aed X H) fraar
&7

Options:
1. « 12500
2 % 12000
3 % 11500
4 % 11000

Question Number : 102 Question Id : 9983671628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A street food vendor bought 100 samosas for T 250. He sells 20 of them at a gain of 5%. At what gain % should he sell
the remaining samosas so as to gain 20% on the whole?

Options:

1. v 23.75%

? % 22.75%

3. % 20.25%

Question Number : 102 Question Id : 9983671628 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
v FIT FE fERar & 250 # 100 AW @{E| 9 5% % o W 20 AW A= gl 3H Fof TAH
9T 20% T Y 9T FI & T IR 9 GAY F Traa % o9 9T 94T g

Options:

1. v 23.75%
2 % 22.75%
3. % 20.25%

4. = 2550%

Question Number : 103 Question 1d : 9983671629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
An article is marked at a price which gives a profit of 20%. After allowing a certain discount, the profit reduces to 10%.

The discount percentage is:

Options:
1. &= 10%

1o
9« Hg
Zq
3 %"
4 % 12%

Question Number : 103 Question Id : 9983671629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U WA F Hihd Hed 20% F o W RAfga fFar 7 31 A e W o faReg ge &3 # 91,
AT 10% T HA & FaT g TAT T Fof fovst Fraera & Ge & 737




Options:

1. = 10%

1g
2 o 83.«’&:

2g
3 = %7

Question Number : 104 Question Id : 9983671630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of T 30,000 becomes T 42.147.84 in 3 years, if interest is compounded annually. What will be the simple interest
on the same sum at same rate of interest for 3 years?

Options:
1. % T8.100

2w 9,000
3 » T9.900

4. » 10,800

Question Number : 104 Question Id : 9983671630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE = aIffe Twgfe &0 & ¥ & g, ar 3 Fuf F T 30,000 Hr a1y T 42,147.84 & AT g1 57
A AR W 3 a9 & T WA s W &Y Fe WART s fFhaar gem?

Options:



1 = 8,100

2« 9,000

3 % ¥9,900

4 » 10,800

Question Number : 105 Question Id : 9983671631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the approximate interest on ¥ 800 for 2; years at the rate of §% per annum compounded annually?

Options:
1. » T133.12

7« T158.00

3. % T160.20

v

A % T165.32

Question Number : 105 Question 1d : 9983671631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8% e Twgig 0= T W 25 Tul & o T 800 Fr u=wf¥r W For foaar st 9T gem?
Options:

1. ® T332




2 o ¥158.00

3. » T160.20

4. %= T165.32

Question Number : 106 Question Id : 9983671632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which sum amounts to T 2.188.68 in 8 years at 7% simple interest per annum?
Options:
1. «+ 1403

Question Number : 106 Question Id : 9983671632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v Affea gaufr 9fa a¥ 7% WwRer srs g7 9 8 Fut # T2,188.68 g ST 1 He uerer fhcsr
&2

Options:

1. « 1403

2 % 1800



3. % 1500

4. » 1303

Question Number : 107 Question Id : 9983671633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the cost price of 64 articles is equal to the selling price of 48 articles, find the gain percentage.

Options:

Question Number : 107 Question Id : 9983671633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg 64 FHAET FT FT AeT 48 WA F FHT Hed & TG g, @ oH F IS Fol oheAaA gE?

Options:

T. = 25



Question Number : 108 Question Id : 9983671634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The simple interest for a sum of ¥ 3,100 for four years is T 80 more than the simple interest for ¥ 3.000 for the same
period. Find the rate of interest.
Options:

1. = 10%

Question Number : 108 Question Id : 9983671634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T F8t & &7 3,100 #r UfEr ox Ao arer JRoT U, §AE 39T F 3w 3,000 Fr gfer 93
e amer == ¥ 780 9% ¥ U= # 2T gy B2

Options:

1. = 10%
2 % 15%
3. v 20%

4 = 8%



Question Number : 109 Question 1d : 9983671635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The perimeter of a triangular park is 400 m. Its one side is 180 m and the difference between its other two sides is 20 m.
Its area (in m? ) is:

Options:

1. » 2000v2

2 & 40002

3. % 6000:2

4. % 8000V

Question Number : 109 Question 1d : 9983671635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v PR 9 T GRS 400 m B $HEF TF W Y &y 180 m F AN SHF 3w S T
ST F S H FHR 20 m F1 TH I F GBS (m? H) Frdar gem?

Options:
1. % 2000v2

2 o 4000V2

3w 6000y2

4. = 8000v2

Question Number : 110 Question Id : 9983671636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A 12 m deep well with diameter 3.5 m is dug up and the earth taken out from it is spread evenly to form a platform of

length 10.5 m and breadth 8 m. The height (in m) of the platform is: (Use m = %)

Options:

Question Number : 110 Question Id : 9983671636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3.5 m @ SUH A TF 12 m @ FT ey 714 § AR 578 e 7% A F 105 m FES A 8
m HEE I TF RewH g9 & O A 9 ¥ e 13w 2 wewy i FEE (m 7)) SaEr

gei? (= 2o aY)

Options:
T. & L1256
2. w 125
3. « 1375
4 = 25

Question Number : 111 Question Id : 9983671637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the perimeter of a rectangle is 56 m and its area is 160 sq.m. Find its length.

Options:



1. ¥ 20m

2
®
—
LA
B

&m

-
%

Question Number : 111 Question Id : 9983671637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofy T g Fr g 56 m g 3T sHEr S9%a 160 sq.m. g, a7 SHHr Fag haar geir?

Options:

1. ¢ 20 m
2 % 15 m
3 % 10m
d = 8m

Question Number : 112 Question 1d : 9983671638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Area of a square shaped field is 36450 Sg.m. What is the length of the diagonal of the field?
Options:
1. = 135

2 @ 270



3 % 1352

4. % 27032

Question Number : 112 Question 1d : 9983671638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T JNeRIT HElF &7 &79% 36450 sq.m. g1 Hed & aoT fr o= e &2

Options:
1. = 135
P« 270

3 x 135/2

4. % 27032

Question Number : 113 Question Id : 9983671639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sunil alone can do the work in 24 days. Kunal alone can do the work in 36 days. Together they undertake a work for
48.000. With the help of Anand they finished the work in 12 days. How much is to be Anand must be paid?

Options:
1. & T 6000

2 % 12000

3 % 16000



4.« T8000

Question Number : 113 Question Id : 9983671639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT ol T FH 24 e 7 T Fehar § 3R T ol 36 EA H F Fepar B AT TF A
et 30 &1H & T48,000 H 97 +g ¥ 3= F Heg ¥ Fgi 12 RS F w3 wen FT T
mw@mwmwmm

Options:
1. = T6000
2 % 12000
3 % 16000
4. «» T8000

Question Number : 114 Question Id : 9983671640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Vimal alone can do a job in 6 days and Suraj alone in 12 days. They involve Punit and all three finish the job in 3 days.
If Punit alone has to do a job then how many days will he take?

Options:

1.

10

8

2l~,:f 12

14

w
%

r[:.
b4
—
Ln



Question Number : 114 Question 1d : 9983671640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fawer et v w1 # 6 fGF F qU X Tear § IR g 12 RE A 9@ = wewar g1 F ha &t
M F & 3R A e 3@ FH F 3 R F oA W e 1 T RS 3/ FH OO
A H T haat &Gt RN

Options:

1. = 10
2. v 12
3 = 14
4. = 15

Question Number : 115 Question Id : 9983671641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Excluding stoppages. the speed of a bus is 45 kmph and including stoppages it is 36 kmph. For how many minutes does

the bus stop per hour?

Options:

Question Number : 115 Question Id : 9983671641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TS & OIS, Ueh a8 #I a1id 45 kmph § 3R Tevs afgg a8 #7 a1fd 36 kmph g1 a7 I8 §41¢
o v i o€ T= fras fee & e = 22

Options:

1. = 9
2 = 10
3:; ¢ 12
4. = 20

Question Number : 116 Question Id : 9983671642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 320 m long train, travelling at a uniform speed. crosses a platform in 60 s and a man standing on the platform in 24 s.
The length (in m) of the platform is:
Options:

1. = 430

7 « 480

Question Number : 116 Question Id : 9983671642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF 320 m S A, T FA M F AR FA §T, 60 s F TF wEHH F AR 3H WEHA R T
T HISHT 1 24 s H IN FIdT §1 SEHH S gag (m 7)) Faar 22

Options:



1. = 430

2. « 480
3 = 530
4 % 580

Question Number : 117 Question Id : 9983671643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Study the following table carefully and answer the following question.

The following tables gives the information of sales of sports kits by the company “XYZ” over past five vears (numbers
in lakhs)

Year Cricket Hockey Football Tennis
2011 40 32 58 68
2012 43 32 71 19
2013 31 32 13 19
2014 30 19 16 13
2015 72 68 51 36

For cricket what is total sales for past five vears?

Options:

1. ¢

]
I-J
=

7 % 183

214

i
%

A % 160



Question Number : 117 Question Id : 9983671643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A &1 7% o F SRS HeITA W AR AeAer@d 99 FH 3ol ¢

Tr=fatle o Rod o= avf & &9t "XYZ" garr 9w e @ R &1 e & § (T
FrEr #F )

g e Gkl TeaTd am
2011 40 32 58 68
2012 48 32 71 19
2013 31 32 18 19
2014 30 19 16 18
2015 72 68 51 36

Rroar o et & g e e B & R g 2

Options:
1. & 221
S % 183
3 % 214
A ® 160

Question Number : 118 Question Id : 9983671644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph below represents the circulation of newspapers in different languages in a city. Study the bar graph and
answer the following question:

Telugu |

Language —>
[—l

2 g

B: =

| I | ! ! | { o
1 1 T I 1 T 1 =

200 400 600 8OO 1000 1200 1400

No.of New Papers ———>

What is the circulation of Englishnewpaper?

Options:
1. ¢ 1200

v

2 % 1400

3. % 800

&

600

e
%

Question Number : 118 Question Id : 9983671644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A T I 9 A% U 9EY F e gt & §EER 95t Fr @99 Fr g 21 9 A6 Fr e
T ¢ 3 fAeaf@T voa &1 3T &

E

T%ﬁr:
p el

ol
=

Al

E |

200 400 600 800 1000 1200 140

TAER 937 T e
ST & GHAER 930 $r TI9 hdar 87

Options:




1. « 1200

2 % 1400
3. = 800
4. = 600

Question Number : 119 Question Id : 9983671645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Reshma purchased a mobile for < 16,100 including GST. If the list price of mobile is T 14.000. Find the rate of GST.

Options:

1. v 15%

Question Number : 119 Question Id : 9983671645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & GST &fga T 16,100 H ve Aase TWiler| 37K Aa@a & g JoF < 14,000 &, ar GST &
g7 Toaar grefr?

Options:

1. v 15%



2 % 16%

3. « 155%

4. % 165%

Question Number : 120 Question 1d : 9983671646 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The following table gives the stamps collected by Ramu and Situ during 6 months. Read the table and answer the
following questions.

Month | March | April | May | June | July | August

-

Ramu | 140 120 | 100 | 160 | 140 | 140
Situ 180 140 | 100 | 140 | 130 | 210

The collection of stamps of Ramu for the month of April is what percent of total collection of stamps of Ramu of all 6
months?
Options:

1. = 12%

Question Number : 120 Question Id : 9983671646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frrafafe arfoer 6 8= & e T 3t ¥ g ves T 1o v &1 2eiehr 81 3§ aforer &
o ¥ 96 3 PeRf@g gt ¥ 30w &

el | AT |30 |AS | S | o5 | 39Ed
TH 140 | 120 | 100 | 160 | 140 140
e 180 | 140 | 100 | 140 (130 | 210

S FE F T F TET F TIE, 6 T F T F TEFT F ol T BT Sl dfawT §?

Options:

1. % 12%
2. v 15%
3. = 154%
4. » 16%
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Question Number : 121 Question Id : 9983671647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words/phrase.

A person who acts against religion.
Options:
1. & Atheist

? # Atheitard

3. ® Theist

4 « Heretic

Question Number : 121 Question Id : 9983671647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words/phrase.

A person who acts against religion.

Options:

1. % Atheist

? %  Atheitard



3. % Theist

4. « Heretic

Question Number : 122 Question Id : 9983671648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words/phrase.

An emotional disorder characterized by an obsessive desire to lose weight by refusing to eat.
Options:
1. » Altophobia

? « Anorexia

3 x Cacophobia

4. » Graphophobia

Question Number : 122 Question Id : 9983671648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words/phrase.

An emotional disorder characterized by an obsessive desire to lose weight by refusing to eat.
Options:
1. = Altophobia

7« Anorexia



3. % Cacophobia

/. % Graphophobia

Question Number : 123 Question Id : 9983671649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option that can substitute the underlined idiom in the given sentence.

Don't beat around the bush, just tell me the truth.

Options:
1. » To do Something horrible

2 % Tokeep complaining

3.« Tostall

A % To disclose secrets

Question Number : 123 Question Id : 9983671649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option that can substitute the underlined idiom in the given sentence.

Don't beat around the bush. just tell me the truth.

Options:

1. % Todo Something horrible

2 % Tokeep complaining



3« Tostall

4. = Todisclose secrets

Question Number : 124 Question Id : 9983671650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option that can substitute the underlined idiom in the given sentence.

I don’t know what your favourite color is, but if I were to take a shot in the dark. T would say it’s vellow.

Options:
1. » A dangerous task

2 % A wrong move

3 u Alucky deed

4], » A complete guess

Question Number : 124 Question 1d : 9983671650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option that can substitute the underlined idiom in the given sentence.

I don’t know what your favourite color is, but if T were to take a shot in the dark. I would say it’s vellow.

Options:

1. « Adangerous task

2 % A wrong move



3. % Alucky deed

4. » Acomplete guess

Question Number : 125 Question Id : 9983671651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate idiom to fill in the blank.

By agreeing to work in an office and also continue to study. he put himself
Options:
1. « inatight spot

? % under the weather

3. % tofish in troubled waters

4. w» highanddry

Question Number : 125 Question Id : 9983671651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate idiom to fill in the blank.

By agreeing to work in an office and also continue to study, he put himself
Options:

1. » [atightspot

72w under the weather



3. % tofish in troubled waters

/. « highanddry

Question Number : 126 Question Id : 9983671652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

a 14-hour flight from New York. I land in Seoul and discover that South Korea is in a state of shock.
Options:

1. & From

? w With

3.« After

4 = Before

Question Number : 126 Question Id : 9983671652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

a 14-hour flight from New York. I land in Seoul and discover that South Korea is in a state of shock.

Options:

1. = From

2 % With



3.« After

4. = Before

Question Number : 127 Question Id : 9983671653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

Korea’s top Go champion. a complex strategic board game, is shown endlessly monitors in the Seoul
underground railwayv.

Options:
1. % through

? % in

3. % above

4, v on

Question Number : 127 Question Id : 9983671653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

Korea's top Go champion, a complex strategic board game, is shown endlessly monitors in the Seoul
underground railway.

Options:
1. & through

2. % in



3. % above

4. v on

Question Number : 128 Question Id : 9983671654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

I am all trying to find ways to save money for the future.

Options:

1. « in favour of

? % incourse of

3 % inconsideration of

4. w» inconsequence of

Question Number : 128 Question Id : 9983671654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

ITamall trving to find ways to save money for the future.

Options:

1. « infavourof

2. w incourse of



3 % inconsideration of

/. % Inconsequence of

Question Number : 129 Question Id : 9983671655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate prepositions to fill in the blanks.

Thirty years after being adopted an Australian family and raised Melbourne, Joel de Carteret has come
back to his country, where he was born.

Options:
1. % with;into

2. w byiin

3 x Dby:with

A % inin

Question Number : 129 Question Id : 9983671655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate prepositions to fill in the blanks.

Thirty years after being adopted an Australian family and raised Melbourne. Joel de Carteret has come
back to his country. where he was born.

Options:

1. = with; into

2 @ by:in



3.« by:with

4. % iniin

Question Number : 130 Question Id : 9983671656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option that can substitute the underlined idiom in the given sentence.

I used to try to strike while the iron was hot but barely ever succeeded.

Options:
1. » To act on an opportunity in anger

? . Toact on an opportunity promptly while favorable conditions exist

3w Toactonan opportunity when its summer

4. % To acton an opportunity to make a profit

Question Number : 130 Question Id : 9983671656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option that can substitute the underlined idiom in the given sentence.

I used to try to strike while the iron was hot but barely ever succeeded.

Options:

1. % Toactonan opportunity in anger

2  Toacton an opportunity promptly while favorable conditions exist



3 % Toacton an opportunity when its summer

/. % Toactonanopportunity to make a profit

Question Number : 131 Question Id : 9983671657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate articles to fill in the blanks.

Fifty vears ago. Korea was among poorest on earth but today it feels like an outpost from the future.
Options:
1. & & the

2, % aan

3 o theithe

Question Number : 131 Question Id : 9983671657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate articles to fill in the blanks.

Fifty years ago, Korea was among poorest on earth but today it feels like an outpost from the future.
Options:
1. = aithe

3.  theithe



Question Number : 132 Question Id : 9983671658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

Seoul is a place that veers utopia and dystopia with alarming speed and sleeps less than even New York.
Options:
1. & off

? w from

3 % among

4 between

Question Number : 132 Question 1d : 9983671658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

Seoul is a place that veers utopia and dystopia with alarming speed and sleeps less than even New York.
Options:

1. = off

2. = from

3w Aamong



4.~ between

Question Number : 133 Question Id : 9983671659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

Freshwrap aluminium foil preserves the taste and flavours vour food, keeping it fresh long after you have
packed it.

Options:
1. o of

? w for

Question Number : 133 Question Id : 9983671659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

Freshwrap aluminium foil preserves the taste and flavours your food, keeping it fresh long after you have
packed it.

Options:

1. v of

2. = for

3 = in



4 = with

Question Number : 134 Question Id : 9983671660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

As soon as the clock struck 12:00, Cinderella down the stairs to reach her carriage. but she was late.
Options:
1. % running

2 w Isrunning

4  ran

Question Number : 134 Question Id : 9983671660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

As soon as the clock struck 12:00, Cinderella down the stairs to reach her carriage, but she was late.
Options:

1. % rnning

2 % Isrunning

3. % mn



4d. « fan

Question Number : 135 Question Id : 9983671661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.

Options:

1. =

I woke in a panic and gasping for a deep breath. but the air that swirled around my constricted body was humid and
dense.

2. %

Trying to remain calm, I took several slow and methodical breaths while my wheezing lungs brake the stillness inside
the dark bedroom.

3.¢

Oxygen passed into my respiratory system like it was travelling through a tiny. plastic straw.

4. =

But it was enough for me to relaxing slightly and try to untangle my thoughts and surroundings.

Question Number : 135 Question Id : 9983671661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:

1. =

I woke in a panic and gasping for a deep breath, but the air that swirled around my constricted body was humid and
dense.

2. =

Trying to remain calm, I took several slow and methodical breaths while my wheezing lungs brake the stillness inside
the dark bedroom.



3. ¢

Oxvgen passed into my respiratory system like it was travelling through a tiny. plastic straw.

4, =

But it was enough for me to relaxing slightly and try to untangle my thoughts and surroundings.

Question Number : 136 Question Id : 9983671662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:

1. =

Many Icelanders still believe in supernatural creatures. this otherworldly land would have to be it and if there were a

place where elves, dwarves and gnomes surreptitiously roamed.

2. %

This otherworldly land would have to be it and if there were a place where elves. dwarves and gnomes surreptitiously
roamed, many Icelanders still believe in supernatural creatures.

3. ¥

Many Icelanders still believe in supernatural creatures. and if there were a place where elves, dwarves and gnomes
surreptitiously roamed, this otherworldly land would have to be it.

4, =

Many Icelanders still believe in elves, dwarves and gnomes supernatural creatures, and if there were a place where
surreptitiously roamed, this otherworldly land would have to be it.

Question Number : 136 Question Id : 9983671662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.

Options:



1. =
Many Icelanders still believe in supernatural creatures. this otherworldly land would have to be it and if there were a

place where elves, dwarves and gnomes surreptitiously roamed.

2. %

This otherworldly land would have to be it and if there were a place where elves. dwarves and gnomes surreptitiously
roamed. many Icelanders still believe in supernatural creatures.

3.

Many Icelanders still believe in supernatural creatures. and if there were a place where elves, dwarves and gnomes
surreptitiously roamed. this otherworldly land would have to be it.

4. =

Many Icelanders still believe in elves, dwarves and gnomes supernatural creatures, and if there were a place where
surreptitiously roamed. this otherworldly land would have to be it.

Question Number : 137 Question Id : 9983671663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the sentence from the given options that has used the correct form of verbs.
Options:
1. » The swaying balloons looking like lotuses floating on a mountain lake.

? % There is hundreds of them, both plastic and rubber.

3 . Infront of them. with an intent to paint words and pictures. sat scores of children.

/. » Notreally ‘sat’; the children had to stand to demonstrating their artistic skills.

Question Number : 137 Question 1d : 9983671663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the sentence from the given options that has used the correct form of verbs.

Options:



1. % The swaying balloons looking like lotuses floating on a mountain lake.

2 % There is hundreds of them, both plastic and rubber.

3. Infront of them, with an intent to paint words and pictures. sat scores of children.

/. « Notreally “sat’: the children had to stand to demonstrating their artistic skills.

Question Number : 138 Question Id : 9983671664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:
1. » The case is so urgent that it is postponed.

2 » The case is too urgent to be postponed.

3 The case is so urgent not to be postponed.

/. » The case is too urgent not to be postponed.

Question Number : 138 Question 1d : 9983671664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:

1. & The case is so urgent that it is postponed.



2 » The case is too urgent to be postponed.

3. % Thecase is sourgent not to be postponed.

/.« Thecase is too urgent not to be postponed.

Question Number : 139 Question Id : 9983671665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that correctly expresses the given sentence in passive voice.His conduct displeased his mother.
Options:
1. » His mother get displeased at his conduct.

2  His mother got displeased on his conduct.

3 » His mother was displeased on his conduct.

4. » His mother was displeased by his conduct.

Question Number : 139 Question Id : 9983671665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that correctly expresses the given sentence in passive voice.His conduct displeased his mother.
Options:

1. « His mother get displeased at his conduct.

2 His mother got displeased on his conduct.



3. % His mother was displeased on his conduet.

/.  His mother was displeased by his conduct.

Question Number : 140 Question Id : 9983671666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that correctly expresses the given sentence in active voice.
I expect the work to be done by Mohan.

Options:
1. » Iexpects Mohan to do the work.

2 . lexpect Mohan to do the work.

3w The work expects to be done by Mohan.

4. » Iam expecting Mohan does the work.

Question Number : 140 Question Id : 9983671666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that correctly expresses the given sentence in active voice.
I expect the work to be done by Mohan.

Options:

1. = Iexpects Mohan to do the work.

2  lexpect Mohan to do the work.

3.« The work expects to be done by Mohan.



4. » Iam expecting Mohan does the work.

General English?2
Group Number : 8
Group Id: 99836744
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English?

Section Id : 99836750

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 99836788
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9983671667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

SOOTHE
Options:
1. « Pacify



? % Aggravate

3w Agitate

4] = Incite

Question Number : 141 Question Id : 9983671667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonvm of the given word.

SOOTHE
Options:
1. « Pacify

2. . Aggravate

3. w Agitate

4. = Incite

Question Number : 142 Question Id : 9983671668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

INCRIMINATE
Options:

1. + Prosecute

? % Exonerate



3. % Pardon

4. » Exculpate

Question Number : 142 Question Id : 9983671668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

INCRIMINATE
Options:

1. « Prosecute

? % Exonerate

3 % Pardon

/4. « Exculpate

Question Number : 143 Question Id : 9983671669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

CLAMOROUS
Options:

1. ® Monotonous

? # Motionless

3. # Placid



4« Boisterous

Question Number : 143 Question Id : 9983671669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate synonvm of the given word.

CLAMOROUS
Options:

1. % Monotonous

2 % Motionless

3. u Placid

4.  Boisterous

Question Number : 144 Question 1d : 9983671670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate synonym of the given word.

PLIABLE
Options:

1. # Obstinate

? « Flexible

3. # Keen

4 % Huge



Question Number : 144 Question 1d : 9983671670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate synonym of the given word.

PLIABLE
Options:

1. = Obstinate

?  Flexible

3. % Keen

4. = Huge

Question Number : 145 Question Id : 9983671671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate synonym of the given word.

IMPETUOUS
Options:

1. & Cautious

2  Leisurely

3 o Impulsive

4], » Lucky

Question Number : 145 Question Id : 9983671671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

IMPETUOUS
Options:

1. % Cautious

2 x Leisurely

3. » Impulsive

4. = Lucky

Question Number : 146 Question Id : 9983671672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

FAWNING
Options:
1. » Flattering

? « Disinterested

3 u Bootlicking

4. % Sycophantic

Question Number : 146 Question Id : 9983671672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

FAWNING



Options:
1. « Flattering

2 .« Disinterested

3. » DBootlicking

/. % Sycophantic

Question Number : 147 Question Id : 9983671673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined word.

After a tedious day at office I went to café coffee day to relax.
Options:
1. « exciting

? % drab

3 % poky

4 % irksome

Question Number : 147 Question Id : 9983671673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined word.

After a tedious day at office I went to café coffee day to relax.

Options:



1. » exciting

2. % drab

3 % Poky

4. = irksome

Question Number : 148 Question Id : 9983671674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined word.

Yatin is a person of noble nature and unsullied character.
Options:

1. # immaculate

2  pristine

3. defiled

4. = spotless

Question Number : 148 Question 1d : 9983671674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined word.

Yatin is a person of noble nature and unsullied character.

Options:



1. % immaculate

2  pristine

3. defiled

4. = spotless

Question Number : 149 Question Id : 9983671675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined word.

Since Tarun was fretting a little too much while running a race. he fell down again.
Options:

1. » anguished

2  agonized

3 u grieving

4  calm

Question Number : 149 Question Id : 9983671675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined word.

Since Tarun was fretting a little too much while running a race, he fell down again.

Options:



1. % anguished

2  Aagonized

3. x grieving

4 « calm

Question Number : 150 Question Id : 9983671676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined word.

For days Sangeeta was morose. and Deepak could do nothing to cheer her up.
Options:
1. » crabby

? « cheerful

3 x grouchy

4. » melancholy

Question Number : 150 Question Id : 9983671676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined word.

For days Sangeeta was morose. and Deepak could do nothing to cheer her up.

Options:



1. « crabby

7. « cheerful

3. x grouchy

4. » melancholy

Sub-Section Number: 2
Sub-Section 1d: 99836789
Question Shuffling Allowed : Yes

Question Id : 9983671677 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)



Read the following passage and answer the questions given after it.

Ever since we began barging into their spaces, wild animals have had
to either flee deeper into the forests or adapt and learn to live with
us. Animals like elephants and tigers use forest corridors to get from
one forest to another and we have encroached on these, building
expressways or setting up tea and coffee plantations. Still, elephants
will use these traditional routes, even if a little warily, and. of course,
sometimes. there is trouble. Roads and highways running through
wildlife territories pose a grave danger: because we drive recklessly,
an inordinately high number of animals get run over and killed.

In Gujarat’s Gir forest, the problem seems to be developing the other
way around, not that we have left the National Park and Sanctuary
sacrosanct. The lions are now bursting out of the protected area into
the southern regions of the forest and into what we see as “our” space.
While, generally. both humans and lions are learning to live with
each other, you really wonder how tenable this situation will be in
the future: we are turning increasingly intolerant and lynch-loving,
and as the lion population grows, so will hostile interactions.

I eopards, too, have quickly learned to adapt to semi-urban living. As
long as they have a forest to take cover in, they’re quite happy to be
living on the edges of urban areas, taking dogs. pigs and goats (and
tragically, the odd child). Gurugram and Borivali (in Mumbai) are
prime examples. But leopards frequently land in trouble, somehow
finding themselves in someone’s bathroom or at the bottom of a well.
The hysteria displayed by us in these situations is, to say the least,
totally unedifying.

Sub questions

Question Number : 151 Question Id : 9983671678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How have we encroached the forest space that is
meant for animals?
Options:

1. ® We haven’t encroached the forest and it’s corridors,

? w By visiting the forest frequently.

3 u By starting to live in the forest.



By building expressways, setting up tea and coffee
4. » blantations.

Question Number : 152 Question Id : 9983671679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why is it dangerous to drive on roads and highways
through forest areas?

Options:
1. » Roads and highways are not constructed for us.

When driving recklessly, animals get run over and
? « killed.

3 x Animals provide the key to safety but only in forests.

4. » Because we don't like to drive through jungles.

Question Number : 153 Question Id : 9983671680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Based on the passage which of the following is
NOT true.

Options:
Roads and highways running through wildlife

1. « territories pose no danger to wild animals.

Animals like elephants and tigers use forest corridors
to get from one forest to another and we have
? # encroached on these.

Leopards. too, have quickly learned to adapt to semi-
3 x urban living.



The lions are now bursting out of the protected area
into the southern regions of the forest and into what

4 s« Wweseeas “our™ space.

Question Number : 154 Question Id : 9983671681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage what are we, as humans,
increasingly turning into?
Options:

1. » Tolerant and peace loving

? w Intolerant and peace loving

3 . Intolerant and lynch loving

4. % Tolerant and lynch loving

Question Number : 155 Question Id : 9983671682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word
substitute for the given group of words.

Behavior exhibiting excessive or uncontrollable
emotions such as fear or panic.

Options:
1. « Warily

? % Inordinate

3 Unedifying



4. . Hysteria

Question Id : 9983671677 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)
Read the following passage and answer the questions given after it.

Ever since we began barging into their spaces, wild animals have had
to either flee deeper into the forests or adapt and learn to live with
us. Animals like elephants and tigers use forest corridors to get from
one forest to another and we have encroached on these. building
expressways or setting up tea and coffee plantations. Still, elephants
will use these traditional routes, even if a little warily, and. of course,
sometimes, there is trouble. Roads and highways running through
wildlife territories pose a grave danger: because we drive recklessly,
an inordinately high number of animals get run over and killed.

In Gujarat’s Gir forest, the problem seems to be developing the other
way around. not that we have left the National Park and Sanctuary
sacrosanct. The lions are now bursting out of the protected area into
the southern regions of the forest and into what we see as “our” space.
While, generally, both humans and lions are learning to live with
each other, you really wonder how tenable this situation will be in
the future: we are turning increasingly intolerant and lynch-loving,
and as the lion population grows, so will hostile interactions.

I eopards, too, have quickly learned to adapt to semi-urban living. As
long as they have a forest to take cover in, they’re quite happy to be
living on the edges of urban areas, taking dogs, pigs and goats (and
tragically, the odd child). Gurugram and Borivali (in Mumbai) are
prime examples. But leopards frequently land in trouble, somehow
finding themselves in someone’s bathroom or at the bottom of a well.
The hysteria displayed by us in these situations is, to say the least.
totally unedifying.

Sub questions

Question Number : 151 Question Id : 9983671678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How have we encroached the forest space that is
meant for animals?
Options:

1. % We haven’t encroached the forest and it’s corridors.



2 By visiting the forest frequently.

3.« By starting to live in the forest.

By building expressways, setting up tea and coffee
4.  plantations.

Question Number : 152 Question Id : 9983671679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why is it dangerous to drive on roads and highways
through forest areas?

Options:

1. x Roads and highways are not constructed for us.

When driving recklessly, animals get run over and
2.« Kkilled.

3. % Animals provide the key to safety but only in forests.

J. « Because we don’t like to drive through jungles.

Question Number : 153 Question Id : 9983671680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Based on the passage which of the following is
NOT true.

Options:



Roads and highways running through wildlife

1. « territories pose no danger to wild animals.

Animals like elephants and tigers use forest corridors
to get from one forest to another and we have

7 % encroached on these.

Leopards, too, have quickly learned to adapt to semi-

3. & urbanliving.

The lions are now bursting out of the protected area
into the southern regions of the forest and into what

4. w Wweseeas “our” space.

Question Number : 154 Question Id : 9983671681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage what are we, as humans,
increasingly turning into?
Options:

1. % Tolerant and peace loving

2  Intolerant and peace loving

7 P Intolerant and lynch loving

4. » Tolerant and lynch loving

Question Number : 155 Question Id : 9983671682 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Select the option that can be used as a one-word
substitute for the given group of words.

Behavior exhibiting excessive or uncontrollable
emotions such as fear or panic.

Options:
1. = Warly

7 % Inordinate

3. % Unedifying

4.  Hysteria

Sub-Section Number: 3
Sub-Section Id: 99836790
Question Shuffling Allowed : Yes

Question Id : 9983671683 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Read the following passage and answer the questions given after it.

From texts as dissimilar as the 1968 cult classic Night of the Living
Dead and the comparatively sophisticated Andromeda Strain, which
was published the following year and made Michael Crichton’s
reputation, popular culture has generally held bugs from space
responsible for the plagues of humankind. Nothing less would seem
to account for their cataclysmic arrival, seemingly out of nowhere,
The truth is completely prosaic, though — plagues are
anthropogenic, and break out when humans alter ecosystems to
favour a particular organism, or wipe out the competition to create
greenfield spaces for hardy organisms. Such is the story of the
superfungus Candida auris, which was discovered only in 2009 and
has spread to 32 countries, causing deaths and alarums and
excursions in hospitals on three continents.

The rise of C. auris, which may have lurked unnoticed for millennia,
owes entirely to human intervention — the massive use of fungicides
in agriculture and on farm animals which winnowed away more
vulnerable species, giving the last bug standing a free run. Sensitised
to clinical fungicides, C. auris has proved to be difficult to extirpate,
and culls infected humans who cannot fight diseases very effectively
— infants, the old, diabetics, people with immune suppression, either
because of diseases like HIV or the use of steroids. The new
superfungus has the makings of a future plague, one of several which
may cumulatively surpass cancer as a leading killer in a few decades.

Sub questions

Question Number : 156 Question Id : 9983671684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which vear was Andromeda Strain published?
Options:
1. &= 1967

7 1969

3 % 1978

A = 2009

Question Number : 157 Question Id : 9983671685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



To how many continents did C. Auris spread
during 2009?

Options:

1. & Two

? « Three

3. # Four

4 = Five

Question Number : 158 Question Id : 9983671686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The main cause of rise of C. Auris was
Options:
Not using fungicides in agriculture to keep from
1. » fungus and other insects

? w Less than required use of fungicides

3 x Massive use of medicines over people

4. » Massive use of fungicides in agriculture

Question Number : 159 Question Id : 9983671687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word
substitute for the given group of words.

Causing great destruction

Options:



1. & Prosaic

? % Alarum

3  Cataclysmic

4. = Su ppressive

Question Number : 160 Question Id : 9983671688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the
given word.

EXTIRPATE
Options:

1. + Annihilate

? % Generate

2w Spawn

4. » Deposit

Question Id : 9983671683 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Read the following passage and answer the questions given after it.

From texts as dissimilar as the 1968 cult classic Night of the Living
Dead and the comparatively sophisticated Andromeda Strain, which
was published the following year and made Michael Crichton’s
reputation, popular culture has generally held bugs from space
responsible for the plagues of humankind. Nothing less would seem
to account for their cataclysmic arrival, seemingly out of nowhere,
The truth is completely prosaic, though — plagues are
anthropogenic, and break out when humans alter ecosystems to
favour a particular organism, or wipe out the competition to create
greenfield spaces for hardy organisms. Such is the story of the
superfungus Candida auris, which was discovered only in 2009 and
has spread to 32 countries, causing deaths and alarums and
excursions in hospitals on three continents.

The rise of C. auris, which may have lurked unnoticed for millennia,
owes entirely to human intervention — the massive use of fungicides
in agriculture and on farm animals which winnowed away more
vulnerable species, giving the last bug standing a free run. Sensitised
to clinical fungicides, C. auris has proved to be difficult to extirpate,
and culls infected humans who cannot fight diseases very effectively
— infants, the old, diabetics, people with immune suppression, either
because of diseases like HIV or the use of steroids. The new
superfungus has the makings of a future plague, one of several which
may cumulatively surpass cancer as a leading killer in a few decades.

Sub questions

Question Number : 156 Question Id : 9983671684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which vear was Andromeda Strain published?

Options:

1. = 1967
2. & 1969
3. = 1978

4 = 2009



Question Number : 157 Question 1d : 9983671685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

To how many continents did C. Auris spread
during 2009?
Options:

1. &= Two

? « Three
3. % Four
4. » Five

Question Number : 158 Question Id : 9983671686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The main cause of rise of C. Auris was
Options:
Not using fungicides in agriculture to keep from
1. & fungus and other insects

2 x Less than required use of fungicides

3.« Massive use of medicines over people

/.  Massive use of fungicides in agriculture

Question Number : 159 Question Id : 9983671687 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Select the option that can be used as a one-word
substitute for the given group of words.

Causing great destruction

Options:

1. % Prosaic

2 % Alarum

3.  Cataclysmic

/. % Suppressive

Question Number : 160 Question Id : 9983671688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the
given word.

EXTIRPATE
Options:

1. « Annihilate

7 % Generate

3 % Spawn

4. % Deposit



General Hindil

Group Number : 9

Group Id: 99836745

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Hindil

Section Id : 99836751
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 99836791
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9983671689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToedT $r T T TET e T T 27

Options:
1. =« HFEIAT

9 HERAAT



Question Number : 161 Question Id : 9983671689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Faar T T T TE e FiT AT 82

Options:

1. = HEITam

2. ., QT

Question Number : 162 Question Id : 9983671690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&g eg T Taar FAS 27

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. TE
2 QL-?:TEIT
g 0



Question Number : 162 Question Id : 9983671690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g g A IoaT FES 27

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:
1, wm
5,
3, T
4, T

Question Number : 163 Question Id : 9983671691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S 3mex 7 fomam sram @1, 3@ T Fia 71 e Fgad g

Options:

Question Number : 163 Question 1d : 9983671691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foreerT e o TR a3 g1, 38 e oiF @1 e 9g=d gem?

Options:



Question Number : 164 Question Id : 9983671692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TIMAT 2T HhT SUTFHLUTE FIE F4T 27
Options:

1. v T

Question Number : 164 Question Id : 9983671692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TINAT IS T SUTFIUTSF FIE T &7

Options:

1. v T T



Question Number : 165 Question 1d : 9983671693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT g g omeT @ 22

Options:

1.« X

Question Number : 165 Question Id : 9983671693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Hra g g omeT #Fv

Options:

1,

2. v 3RS



Question Number : 166 Question Id : 9983671694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT eg fhT =aeO FIfe F 31T 27
Options:
1. » T FEewor

1 & fErereoT

Question Number : 166 Question Id : 9983671694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oo eE T SuevE Fife # HaT 27

Options:

1. = T TaewoT

2 & d‘:!.'-'idltl':’rr 1



Question Number : 167 Question Id : 9983671695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIFITTITEF TaATH T T 272
Options:

1 » T 7S, B

o

Question Number : 167 Question Id : 9983671695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HiTsTTaT=Es TaaH Fi9 T &2

Options:

1. v 3

2« &H, TAN, §H

3 . F B B

4 = U8 T8, 3¢



Question Number : 168 Question Id : 9983671696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

93T (9, F, §, T, H) F ITAROT TUF FieT G 7

Options:

2. % &d

3. v 3

Question Number : 168 Question Id : 9983671696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g-gsT (9, B, §, &, H) F ITAROT TUH FieT G 2
Options:

P
2. s &
3. v 33
4, = w5

Question Number : 169 Question Id : 9983671697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FETT, o1, TAT 3T BT e 57 951 &1 =7 & giEas 272
Options:




Question Number : 169 Question Id : 9983671697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FET, T, THT 3T TAT e T To1 T T4 & =T+ 27

Options:

1_&3@31?13-7

™
4, = cUlddT=h

Question Number : 170 Question Id : 9983671698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HIAT ST, HIAT T FUA H ok 7Y g

Options:

1 » HIR-3= SN H 3TH FAT|




7 o TFEr ToE a1 coITr = F J9e FAAEN HAT
3« TR A Fr e

Ay FET G, AT T A

Question Number : 170 Question Id : 9983671698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HIAT ST, HIAT T FUA H ok 7Y g

Options:

1 & 39e-3Te SN H 3T HEAT

2 o O TE O cuaTr F F JFe] FAAET FET

3. = foer A T

YT I, HIAT FAT FAAT

>

Question Number : 171 Question Id : 9983671699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

57 TR THEDT & GAYE g el T Hel, Fgh 3T

Options:
1 » ¥ H TF ST
[ ¥ g

9 O % R gE s



Question Number : 171 Question Id : 9983671699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=g TR GHTIT FT FATYTH g Ael F T, T 3T

Options:
1 HE H @e o e
" - oy

9 HI % FRET g e

3 = gd dMel do110

4 v Hehel & €13 T G0

Question Number : 172 Question 1d : 9983671700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For F fov sfeg et oeg &

Options:



/. » 92T, 3k

Question Number : 172 Question Id : 9983671700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For % o g smerdt o= &
Options:

1. = CIEC NI

D o WE aw

3« G, AoEr

4w 9T, A%

Question Number : 173 Question Id : 9983671701 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fora REa 1 39T & J7 § ST 49T 872

Options:

1.« ()

Question Number : 173 Question 1d : 9983671701 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fr REaT & 39S 0H & JF7 § ST J149T 872

Options:

1. » ()

Question Number : 174 Question Id : 9983671702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hi W T GIFT a7 &7

Options:

1 » & ™ & 92 7 Tt 2

0 % S WIIST FAT 8, T Fel T gl

9 TR Taeardt & Fherar ea W ¢

4, & Temer § AR T gee g

Question Number : 174 Question Id : 9983671702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fi TN TFT T ATHT 872

Options:



1, » 9 B T4 98 7@ T ¢
Dy S WIUSAT AT g, TET Bl I g
7, Tl Reand & wwear soa w1 8

4 ¥ e € 3R a7 T B

Question Number : 175 Question Id : 9983671703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR B & Fo fdhaa #ig AA T g7

Options:

1. % &

Question Number : 175 Question Id : 9983671703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR T F For e 8 A v 2
Options:

1, » dm



Question Number : 176 Question Id : 9983671704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HY F HIR W TFT & FA fohael 9 fbw a1 22
Options:

1.8 =g

Question Number : 176 Question Id : 9983671704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y F HUR W T F T s 92 BFT 9 27

Options:

1, = 2%

2. v HB



Question Number : 177 Question Id : 9983671705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T F ToUF UE (AE) FT A0 G=T Fgaldl g
Options:

1. = eE-I =T

7 % TEEU-IRET

3. v TEIRTE

4.« TEAT-OREY

Question Number : 177 Question Id : 9983671705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFT F TeUF UE (UET) FT A0 TREIT FEoT g

Options:

1. = reg-9 =T

2 x TEIU-IREY

3 ¢ qe-I= T



Question Number : 178 Question Id : 9983671706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I F FTAT eredr & o, I, TR, He TAT ok fE & 3T Fer 1 Far e ST 87
Options:

9 HTOa& soS&ar
3. u HcEhH

4, v HA=T

Question Number : 178 Question Id : 9983671706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T F IFFT e F B, T=a, W, Fwne R anfe ¥ e A e Far war S 22
Options:

1. = 3f=afa

Question Number : 179 Question Id : 9983671707 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
‘HASR AT & FAFH H AT OIT- 37 I H FIF-AT ATHU0F GIY g7

Options:

7« FaaH RETE aw

3 v T W

4, « o

Question Number : 179 Question Id : 9983671707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HASR AT & FAFH H AT OFr- 50 I H FIF-AT ATHU0F aF g7

Options:

1. = TN

2« TaAHA BAvEs g

3. v 93N

4, = Fomraw

Question Number : 180 Question Id : 9983671708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR, U, THeoldT Hfe o7&l F UFT F & (¢ TIFT gt qTar [=eaA] 1 FIT Fad 27

Options:



1. EICERERG

7 % 3T oHE REa

9 WS RE

4Jmﬁﬁ

Question Number : 180 Question Id : 9983671708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R, GO, THeaAdT Hfe #a] &I TFd He & [0 TIFd gt dTal [=AgaAl 1 T Fgd g7
Options:

1. « omeg REs

2w 339 w Rew

3« TETEE FES

General Hindi2

Group Number : 10
Group Id: 99836746
Group Maximum Duration : 0

Group Minimum Duration : 120
Show Attended Group? : No

Edit Attended Group? : No
Break time: 0

Group Marks: 20



Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi2

Section Id : 99836752
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 12
Number of Questionsto be attempted: 12
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 99836792
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9983671709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘UGl AYSE T TAFATHT e FT g

Options:

1. » €

4, » ®TE

Question Number : 181 Question Id : 9983671709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AMMGer 9Teg, T AT ASE AT g

Options:



Question Number : 182 Question Id : 9983671710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS U F TATIETET AT FAT &

Options:

Question Number : 182 Question Id : 9983671710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TS e FT TATIETET UqE FAT &

Options:

1. = %0



S&ﬁg
4, v T

Question Number : 183 Question Id : 9983671711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘9T oTeg T TATISETEN ol T &

Options:

1. v ¥

Question Number : 183 Question Id : 9983671711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘oTR’ 9Teg T TATISTET e 3T &

Options:

1. v ¥5

2 % O=EToT



Question Number : 184 Question Id : 9983671712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TFIT 9Teg T TATISTET 9T Al &

Options:

1. = 9

Question Number : 184 Question Id : 9983671712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TET g FT GATISTET 9eE Al B

Options:
1. = &=
2. v TR



Question Number : 185 Question Id : 9983671713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘OIET =g &7 TATET=T 9Teg 3T 272

Options:

j I

4, » TG

Question Number : 185 Question Id : 9983671713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HET U &7 JATTET=T 2l T 272

Options:
1. » 1
2 = 319

Question Number : 186 Question Id : 9983671714 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
T 9eg # TAH =g F=4T 22

Options:

Question Number : 186 Question Id : 9983671714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T e 9reg & Fels oreg F4T 27

Options:

1. = eoao
7w Y=dd
3. v @R

Question Number : 187 Question 1d : 9983671715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

guea' eeg &1 feiA g &ar g2

Options:



4.&?3'?5%

Question Number : 187 Question Id : 9983671715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g’ oeg & oA e #ar §72

Options:

Question Number : 188 Question 1d : 9983671716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o=t oeg FT Ty oeg Fr 22

Options:

1. » =gea



2er_r|'

Question Number : 188 Question Id : 9983671716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U= g FT ¥l 9reg Fr 27

Options:
1. » fasue
2. v TFeA
3. » W
4, = fawoor

Question Number : 189 Question Id : 9983671717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIFYoT 9rec T A oeg FT EEm?

Options:

1,;3—11‘-=Fé'UT

7w IO



Question Number : 189 Question Id : 9983671717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIFYoT 9reg FT el oeg FT BlE?

Options:

1_ o EH'IEI-Té'UT
2 % IS
3. & o0

4w [EgSOT

Question Number : 190 Question Id : 9983671718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

PIA-TT oA TER SollH Aear F7 Jer g7
Options:
1. % TA-HIJT

7 i TleT-EE



L4
4.« 3chY-3eedded

Question Number : 190 Question Id : 9983671718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

PIA-TT oA TER ellH ereel #1 F@r g7

Options:

1. = TU-3TTYA

Ficel-TeT

e

o
%

3.« R

L4
4 v IchY-3eddd

Sub-Section Number: 2
Sub-Section 1d: 99836793
Question Shuffling Allowed : Yes

Question Id : 9983671719 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)



AT g TETYT H Tg FHFHN el 3ok el |

SRT T TR & g1 oAy # TE-8E F HN0T @
qairee fBiewar off g1 Sioag &1 36 Jg1 & Sarfdat & elw
3R AfETF 9T 5 I5aT g1 T & FRUT @A-TgA H oA
o 3l &1 9ers Fr rerr 3 Wearer Fr gl e
fSigett wfea a1 =er 81 AvemEit 3k =@l & iR Jeed
T I &1 orT Fr FHT 39F g &1 98t Y aeg
TRl =T 9T 57 faferuar &1 v gAmoT sreratt i fAeaar
o &1 FenIwT, WA H e & I § BEe ¥
aer @1 FAEASHT AR FAAA F FF o GFar g1 smmsit &
&7 off worar IR EHHla &= g AR, ey, affs
TShdl, BEHAe Tahdl AR R R $F arehd a0 g1 32T
& oFie o off WATEE FX Tehcll I dlehd TGl I gl

Sub questions

Question Number : 191 Question Id : 9983671720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR H Tehdl & aEelG [Heeddl FAI 87
Options:
1 o g H T 82 & T

7w AR ST ATNE THAT & HROT

3 STEpiceR HTIETHT % HROT

A % FH TS FH GAIA H HTW F FRO

Question Number : 192 Question Id : 9983671721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



STy T 3R SyEREl WA R
& &7

Options:

1 » SxETfEat #r anfis Tl w oS gar
0 AT HT fiew et R s & §

cUafET F RR HR Aftask W s
3 o i

.

4 » SuEITEE & 3w W g g

Question Number : 193 Question Id : 9983671722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIETT ffeaar3T & TAT Fgl-Fa Cus
o 87
Options:

1 « Ters-forms & & A
9 T, W AR TH-A F & A
3. % FHFSA F AT H

A « AEA-TR & ST H

Question Number : 194 Question Id : 9983671723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X HRT FT dRd FAT TS 87

Options:




1. » TH-UF F HETERE A1

9 . TN F T v TR e

. % FHFA F IS HIE|

4 o w

Question Number : 195 Question Id : 9983671724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“YRT-TAFT T F &7 H TS ¥ 4T
HiFSTT 27

Options:

1 « Erorae 89 I &
0w HOE §F A B
3 o AfeaRmer a9 A

4 « HFEHT TF T g

Question Id : 9983671719 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)



AT g TETYT H Tg FHFHN el 3ok el |

SRT T TR & g1 oAy # TE-8E F HN0T @
qairee fBiewar off g1 Sioag &1 36 Jg1 & Sarfdat & elw
3R AfETF 9T 5 I5aT g1 T & FRUT @A-TgA H oA
o 3l &1 9ers Fr rerr 3 Wearer Fr gl e
fSigett wfea a1 =er 81 AvemEit 3k =@l & iR Jeed
T I &1 orT Fr FHT 39F g &1 98t Y aeg
TRl =T 9T 57 faferuar &1 v gAmoT sreratt i fAeaar
o &1 FenIwT, WA H e & I § BEe ¥
aer @1 FAEASHT AR FAAA F FF o GFar g1 smmsit &
&7 off worar IR EHHla &= g AR, ey, affs
TShdl, BEHAe Tahdl AR R R $F arehd a0 g1 32T
& oFie o off WATEE FX Tehcll I dlehd TGl I gl

Sub questions

Question Number : 191 Question Id : 9983671720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR H Tehdl & aEelG [Heeddl FAI 87
Options:

T SFoarg H TS A F FHOT

2w AFE & T TEar F FRO

3 TTpicEh HTIETHT F HROT

A % FT FIF H FATHT F 3T F FRO

Question Number : 192 Question Id : 9983671721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A W HE SETEAl W Hhd GEs
ST 87

Options:

1« SrETREE @ anfie fufa w e & &
9, SRt fr anfiE st W R g d

ceETEEt & oY 3y aftgss w femE
3 T g

.

4« AR Fr o W REE €

Question Number : 193 Question Id : 9983671722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT fAeaaratt & 9HT Fal-Far TEs
& 82
Options:

1 « Ten-forms &avd

5 o ST, FUWE HR TA-TH F ST A

3 x FHASTF AT H

4 = - F a8y H

Question Number : 194 Question Id : 9983671723 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
W AR & dlehd 4T Tl 872

Options:

1. « TH-IE & HEEE A

5 TSN F FF T LA A

3« HHEAA F AP Al

4, v ¥

Question Number : 195 Question Id : 9983671724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“QNI-TFT §9 A0 & H TSI T FAT
st 372

Options:

1« Zoige 89 I 2

2w IO FF 1S 2

3. o YA qF AT B

4« 3EAT §F A B



Sub-Section Number: 3
Sub-Section Id: 99836794
Question Shuffling Allowed : Yes

Question Id : 9983671725 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Tafof@a = 1 Jgad 3Ta TWEl 3ok e |

T &3 FATEAT &1, T TIST &I FFATT H{aA dTel 32T T
g1 TET ST P I BT g1 T@T A H I Fr o femer @
gl Afear @ A F@r e g1 fRg e, amyfRear sk
FEAET F FIOT AfGIT IHIAT Ageed @F T 21 Afear T &
E?rél?l?rﬁlHﬁﬂﬁ,@ﬁgﬁ#ﬂﬁdd-éqmiém¢ﬁdu
ST g1 Afear & FE W gy A e v, e,
3iOH TR TUe e §4 gT g1 I, AT, e,
eI, dHe, @y, FE0, seAgy afe Al ¥ feg &
AR B G S ge gl A W AR 7 i fr wg
9= &7 ST 81 G & AR HT g JRX AT H, guOT
3R FropeT F T Afgar & awor FEr § 3#R R 3w g
H of ST OIS 81 ST 3TPR AR &1 s=hr F
T &1 R EH ST AT B T A& I T W@ T §H T
FLar &1 FH T ai‘iqﬂmu-iaﬂé’r%,ﬁﬁrgﬂﬁqﬁ?—r
X g g, Aueg = ® g1 e e afear & v
WHRT & AT g1 AT HG2TH ¢ oh AA-IGT0T H Fehiel
U SAT| TSI ST & gom, i, TswEE AW e
HOT FAT g1 el & Ha-sig o5 g A g1 Afed -
T 8, F-FHER e & Al & 1 AT sa1ar = @
gl

Sub questions

Question Number : 196 Question Id : 9983671726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g H A FT GFA FE-e w7 g
TET 872



Options:

1 » Sd-@TogE! S diee giar & gl

9w mﬁﬁm-mﬁrﬂch#megsﬂ%I

AN FS-F= T AICHA FIA & FROT 37 &

3.

g4, TETEE AR v A e S

Question Number : 197 Question Id : 9983671727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

freg & sRa & 9g== T Frer A, giNd
= g IS 82

Options:

1. » T & &= e F= F

) T A A, HF AR T F AfGH F T ;|
. W

9 I TS FA F A

4 = Aedr H B a1 aTM-aiqud-ﬁ T

Question Number : 198 Question Id : 9983671728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AfeaT gE § FT FHAH B @I 872

Options:




1 v U IH-FFIET Hhe H 3T BT 2

9y T BHIG H AT 9% @ 2

9, T % T gy S 9w @ e

)y TG FemT ¥ W @ L

Question Number : 199 Question Id : 9983671729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 3IAT Hgeca 4T @dr S W@ 27
Options:

1 o B, YT R SEIE % FRoT

9 . TN s e afafefeEr & Far F Fror
3 % Fod HTERETH & HROT

A % o TEl 9T S F A I HAT F FROT

Question Number : 200 Question Id : 9983671730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SA-JEHUT & FHROT FT THe TS & T 87

Options:

1. » ®% 9 FlEA 93 @ 2




9y T H FEE W U T HAT I5 @ 8
3. o oo, Do, agwEs nfE o7 5T @ 2

4 . WA IRE

Question Id : 9983671725 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)



Tafof@a = 1 Jgad 3Ta TWEl 3ok e |

T &3 FATEAT &1, T TIST &I FFATT H{aA dTel 32T T
g1 TET ST P I BT g1 T@T A H I Fr o femer @
gl Afear @ A F@r e g1 fRg e, amyfRear sk
FEAET F FIOT AfGIT IHIAT Ageed @F T 21 Afear T &
E?rél?l?rﬁlHﬁﬂﬁ,@ﬁgﬁ#ﬂﬁdd-éqmiém¢ﬁdu
ST g1 Afear & FE W gy A e v, e,
3iOH TR TUe e §4 gT g1 I, AT, e,
eI, dHe, @y, FE0, seAgy afe Al ¥ feg &
AR B G S ge gl A W AR 7 i fr wg
9= &7 ST 81 G & AR HT g JRX AT H, guOT
3R FropeT F T Afgar & awor FEr § 3#R R 3w g
H of ST OIS 81 ST 3TPR AR &1 s=hr F
T &1 R EH ST AT B T A& I T W@ T §H T
FLar &1 FH T ai‘iqﬂmu-iaﬂé’r%,ﬁﬁrgﬂﬁqﬁ?—r
X g g, Aueg = ® g1 e e afear & v
WHRT & AT g1 AT HG2TH ¢ oh AA-IGT0T H Fehiel
U SAT| TSI ST & gom, i, TswEE AW e
HOT FAT g1 el & Ha-sig o5 g A g1 Afed -
T 8, F-FHER e & Al & 1 AT sa1ar = @
gl

Sub questions

Question Number : 196 Question Id : 9983671726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g H A FT GFA FE-e w7 g
TET 872

Options:

1 « Udr-gfogEr & gt g @ 8l




3T H SA-Hid H HGE & HIROT g3 gl

2, B

§AN FS-F I HHAT A & FROT 37T g
3. =
1 =T W E, A HR G F T F @ A W 8

Question Number : 197 Question Id : 9983671727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feg & 9T & 929 I aen Afean, g
& s g2

Options:

1. » dfedl # & 37 Fa F

e Fr Tigen, A AR guoT & AfH F I 7

v

% AT F AT FH F &7 H

1 u AT H B are a-|“|-=4-ai%|dﬁ o=

Question Number : 198 Question Id : 9983671728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AETT TES & FAT THA & @ 87

Options:

1 v ¥ SF-GFIET HHe H 3T @ g



2 & TE @ X 9T 95 @ El

1 uer F T gT S 9F @

3 SE-Sg Semed ¥ A I &

Question Number : 199 Question Id : 9983671729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AfEAT HIAT Fgeca FAT @iaT ST Wr 87
Options:

¥ s, smgfaear 3T gl & HRoT

5 T S i wfafEfEE F A F FRor

3. % Fod HILEMH & HROT

A« TF TIET 9T IS T A TN FAT F FHROT

Question Number : 200 Question Id : 9983671730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HA-JEHOT & FROT FIT Hhe T3 &1 T 87
Options:

1 « WI® I BEAT 95 @ ¢




2 T N AEE W U T AT 95 @ g

3, » &N, e, TeEEs g e 92 @ E

4 . WESRETREE



